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- pO 4244+ 0.0
p1 -36.79+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 7 13

TinuiLale+ud /25
- pO 4239+ 0.0
pl -36.64 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,7,2)

X~ 1 zz1e+04 [ 25
po 4235+ 0.0
p1 -38.12:+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (0,7,6

T 1 rse+ud [ 25
- pO 4225+ 0.0
[ p1 -35.44 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(0, 7, 10

1000

T a4 e+u4 [ 25
= po 4258+ 0.0
N p1 -36.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

T nuiLa4se+04 / 25
- pD 4239+ 0.0
L pl -35.88+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

A 1 1uiLduae+ud | 25
B po 4233+ 0.0
pL -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

= 1 nui gaze+ud | 25
= po 4220+ 0.0
pl -34.84+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

T, 4b/e+u4/25
= pO 4261+ 0.0
p1 -37.11+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7 15

- oz1e+04 [ 25
e, pO 4251% 0.0
p1 -36.25 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0

X~ 1L uzre+U4 /25
', po 4216+ 0.0
p1 -36.26 + 0.00

TP delay [ns]

TVC(cbch) (0.8,4

S izie+u4 /25
pO 4218+ 0.0
p1 -35.08:+ 0.00

0

TP delay [ns]
TVC(cbch) (O 8,8)
S rnu zyse+ud /25
- pO 4239+ 0.0
pl -36.56 :;‘
TP delay [ns]
TVC(c,b ch) (0o, 8 12

- 1 i s9ae+u4 [ 25
po 4256+ 0.0
pl -37.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT 1 nuiLZioe+ud [/ 25
=N po 4201 0.0
p1 -35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

-1 nui 3vle+u4 / 25
- pO 4212+ 0.0
pL -34.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

T nui 345e+04 [ 25
= po 4255+ 0.0
p1 -36.04 £ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 8 13

- 1.90e+ud /25
e, pO 4266+ 0.0
p1 -37.18 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,2)

X~ 1L ui4e+U4 /25
po 4213+ 0.0
p1 -35.84 + 0.00

TP delay [ns]

TVC(cbch) (0,86

=L bu3e+u4 / 25
pO 4235+ 0.0
358+ 0.0

TP delay [ns]

TVC(cbch) (o, 8 10

- s.drerud ] 25
pO 4283+ 0.0
pL -37.14+ 0.00

TP delay [ns]

TVC(Cbch) (o, 8 14

i 15ze+04 25
pD 4264+ 0.0
p1 -37.58+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

x- 1 L11e+Ud] 25
= po 4232+ 0.0
pL -36.27+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

- 1nui b3/e+u4 / 25
pO 4240+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (o, 8

T Mze+u4/25
- po 4275+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8 15

-1 nuibuae+u4 / 25
- pO 4256+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

AT inuizize+04 /25
Peee.. po 4184+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(cbch) (0,9,4

Tnun 1 z3e+04 /25
- pO 4182+ 0.0
p1 -35.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 9,8

1 nuiLyyve+u4 / 25
po 4217+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (0,9,12

T rnuiLa4/e+04 /25
4222+ 0.0
-35.41+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

AT rnunLLsze+ud [ 25
peee,, po 4179+ 0.0
pl -35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

- nun 3z1e+04 / 25
e, pO 4200+ 0.0
pL -35.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

-1 nu.1yae+u4 / 25
= po 4213+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (0,9,13

T inuiL1gse+ud [ 25
= pO 4198+ 0.0
pl -34.54 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

AT 1nunzzae+04 /25
- po 4200+ 0.0
L p1 -36.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,9,6

T a2z ge+u4 [ 25
- pO 4200+ 0.0
[ pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

T 3zoe+u4 | 25
= po 4249+ 0.0
- pl -36.03 + 0.00

TP delay [ns]

TVC(cbch) (0,9,14

T sz1e+04 /25
- pD 4209+ 0.0
L pl -34.24.+ 0.00

- C = 29.21 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3

AT 1 nuiLzobe+ud [ 25
- po 4201+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

-1 nui bgbe+u4 / 25
e, pO 4217+ 0.0
pL -36.77+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 9

T a55e+u4/25
- pO 4247+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T nui zove+ud [ 25
e pO 4224+ 0.0
p1 35+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

[ C =29.22 [ps/ch]

T Luse+ud /25
™ pO 4209+ 0.0
p1 -34.23+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,10,4

T rnuiLaz3e+04 / 25
e, pO 4226+ 0.0
pl -36.67 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 10 8

T L, r3ze+04 [ 25
= po 4215+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (0,10,12

T rnuiLbore+u4 / 25
= po 4260+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

AT 1 nuiLLive+ud /25
e, po 4206+ 0.0
p1 -34.39+ 0.00

[ C =29.07 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,5

-1 nui 483e+04 / 25
- pO 4234+ 0.0
pL -37.39+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

T inuigs31e+u4 / 25
- pO 4234+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (010,13

-1 naiLbuye+ud / 25
- pO 4254+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (0,10,2)

- PO

AT 1nunzsse+ud /25
4214+ 0.0

TP delay [ns]

TVC(cbch) (0.10,6

1000

p1 -34.75+ 0.00

- rnuiL491e+04 / 25
- pO 4236+ 0.0
[ pl -36.83+ 0.00

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

Tanuizzr1e+04 /25
- po 4254+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (0.10, 14

1000

T L oe+u4 [ 25
- pD 4262+ 0.0
L pl -37+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

A1 1 lae+ud ] 25
po 4230+ 0.0
pL -34.92:+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

-1 nui bbye+u4 / 25
- pO 4259+ 0.0
-37.3+ 0.0

50 1(;0
TP delay [ns]

TVC(cbch) (o, 10 1

-1 nuiL ouobe+u4 / 25
- po 4250+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

T nui pove+ud / 25
= pO 4257+ 0.0
p1 -37.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

AT u1114/e+04/25

_—- po 4159+ 0.0
p1 -34.73:+ 0.00

TP delay [ns]

TVC(cbch) (0,11,4

- 1L 149e+04 / 25
™, pO 4165+ 0.0
pl -34.13+ 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

T L, zbe+u4 | 25
= po 4188+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (011,12

T rnuiLg13e+u4 /25
- po 4213+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

A7 1 nuiL1ove+ud [ 25
- po 4162+ 0.0
pl -35.29 + 0.00

TP delay [ns]

TVC(cbch) (0,11,5

-1 nui z3ye+u4 [ 25
e, pO 4191% 0.0
pL -34.94+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(0, 11, 9

T inun.nze+ud [ 25
= pO 4211+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (0,11,13

T inai sz3e+ud [ 25
== pO 4206+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

1nuizs1e+ud [ 25

__— pO 4176+ 0.0
- pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (0,11,6

T4/ e+04 [ 25
- pO 4213+ 0.0
3 pl -36.05 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 10)

— X1z u31ie+ud [ 25
= po 4199+ 0.0
L p1 34,37+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 14

X~ 11w Sobe+ud [ 25
pee. po 4218+ 0.0
L p1 -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT rnuiLzsse+ud [ 25
poes, po 4185+ 0.0
pl -35.11 + 0.00

TP delay [ns]

TVC(cbch) (0,11,7

- 1nui 413e+04 / 25
- pO 4197+ 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(e.b.eh=(0, 11, 11

- "1 nuiplae+u4 [ 25
= po 4215+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (0,11,15

T nui suye+ud / 25
= pO 4211+ 0.0
-34.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

T gae+u4 /25
.. pO 4209+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (0,124

T i1 1be+u4 /25
pO 42174 0.0
pl -37.87:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 12 8

1 nuiLgoge+U4 / 25
= po 4205+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (0,12,12

1 nuiL4yde+04 / 25
= po 4221+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

AT 1L szse+ud [ 25
P, po 4218+ 0.0
pl -37.77+ 0.00

TP delay [ns]

TVC(cbch) (0,125

“nuizz/e+04 [ 25
e pO 4209+ 0.0
pL -37.33+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

T nun.yrse+ud [ 25
= po 4226+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (012,13

~ 1 nuiLavoe+ud | 25
- pO 4222+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (0,12,2)

A7 1 nui soze+04 /25
_- po 4214+ 0.0
o pl -36.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,126

- rnunbzze+u4 [ 25
e pO 4213+ 0.0
[ pl -37.02 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

T nubbe+ud [ 25
. po 4239+ 0.0
- pl -36.51+ 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12, 14

~1nuiL4z4e+04 [ 25
- pD 4229+ 0.0
[ p1 -35.85+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT rnuiLzuse+ud [ 25
- po 4239+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

=1 nui bobe+u4 / 25
- pO 4241+ 0.0
pL -37.31% 0.00

50 100
TP delay [ns]

TVC(eh.eh)=(0, 12, 11

~ 1 nui gg3e+u4 [ 25
= pO 4251% 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T nuib4ye+ud [/ 25
- po 4229+ 0.0
p1 -36.34+ 0.00

TP delay [ns]



TVC(CbCh) (o, 13 0)

4000

3000

2000

1000

T rlie+ud /25
pO 4216+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (0,134

4000

3000

2000

1000

-1 nuiLy3ve+ud / 25
- pO 4236+ 0.0
p1 -37.11% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 13 8

1 nuig,3ype+u4 / 25
- po 4263+ 0.0
-34.55+ 0.00

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(chh) (0,13,1)

AT 1 nuiLryve+ud [ 25
Fee= po 4214+ 0.0
pl 37+ 0.0

TP delay [ns]

TVC(c, bch) (0,135

-1 nui 409e+04 / 25
- pO 4239+ 0.0
pL -37.14+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 13

~ 1 nuw. sgYe+u4 | 25
- po 4287+ 0.0
p1 -34.57 + 0.00

4000
3000 T
2000 - T
wor C =28.95 [ps/chl ™, 7
s % i
TP delay [ns]

TVC(cbch) (0,13,12

AL azzewA 125
4000 e, po 4252+ 0.0
pl -34.58 + 0.00
3000 = T
2000 - T
o C = 28.92 [ps/ch] 7
-
-
-
n 1 n n n n 1 "
50 100

TP delay

[ns]

1000 C = 28.92 [pS/Ch]

50

1
100

TP delay [ns]

TVC(cbch) (013,13

4000 e ,,0

p1

Tinu3r3e+ud [ 25
4252+ 0.0
-35.91+ 0.00

3000

2000

1000

TP delay [ns]

TVC(CbCh) (0,13,2)

4000

2000

1000

AT 1 nuiLsose+u4 /25
_- po 4220+ 0.0
o pl -35.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.13,6

4000

3000

2000

1000

Crnuz13e+u4 [ 25
- pO 4260+ 0.0
[ pl -37.34+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 10

T g 3u2e+04/25
4000 _— pO 4304+ 0.0
[ p1 -34.84 % 0.00
3000 -— T
2000 -— _-
wor C =28.70 [ps/chl ™, 1]
| =
0 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (0.13,14

- pD

T zase+ud [ 25
4251+ 0.0
pl -35.19+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

AT 1 nuiLbole+ud [ 25
P po 4241+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(c, bch) (0,13,7

-1 nuz.uyze+u4 | 25
- pO 4252+ 0.0
pL -36.66+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 13 1

T 1nuig 715e+04 / 25
- pO 4304+ 0.0
pl -35.84+ 0.00

TP delay

TVC(cbch) (0,13,15

e pO
p1

[ns]

T inuiz.agse+ud [ 25
4269+ 0.0
-36.7+ 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

1 nuiz1ye+ud [ 25

_—- pO 4183+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (0,144

Tz rse+u4 [ 25

e, pO 4204+ 0.0
p1 -34.78:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 14 8

T rnuig.431e+04 / 25
= po 4203+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (0,14,12

T rnuiLbo/e+u4 /25
= po 4224+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

AT rnunLsrse+ud [ 25
e, po 4196+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,5

=1 nui 2yse+u4 [ 25
e, pO 4207+ 0.0
pL -35.02:+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 14,9

~ 1 nu. 7u1e+u4 / 25
= po 4220+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (014,13

~ 1 nuiLbyye+ud / 25
- pO 4226+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(CbCh) (0,14,2)

AT 1nuis31e+04 /25

= po 4201+ 0.0
L pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (0.14,6

111urL.465e+04 [ 25

== pO 4207+ 0.0
[ pl -34.14 + 0.00

- C = 29.29 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (o, 14 10)

T zare+04 /25
o=, po 4232+ 0.0
r -36.1+ 0.0

TP delay [ns]

TVC(cbch) (0.14,14)

T Lo/e+ud /25
- pD 4240+ 0.0
L p1 -37.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

AT 1L zzse+ud [ 25
- po 4198+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

-1 nui 4n0e+04 / 25
4207+ 0.0
-34.7+ 0.0

TP delay [ns]

TVC(ehch)=(0, 14, 11

T nuipy/e+u4 [ 25
= po 4232+ 0.0
pl -36.19+ 0.00

TP delay [ns]

TVC(cbch) (0,14,15

T nui osze+ud [ 25
- po 4245+ 0.0
p1 -37.48 + 0.00

TP delay [ns]



i

4000 e, po

pl

TVC(c,b,ch)=(0, 15, 0)
T r

wus3/25
4194+ 0.0
-33.73+ 0.00

3000

2000 =

woo- C = 29.65 [ps/ch]

1
50 100

TP delay

TVC(cbch) (0,15 4

4000 [ PO

pl

[ns]

S i 1.0ze+u4 /25
4210+ 0.0
-36.15+ 0.00

3000 -

2000 [~

1000 C

50 10‘0
TP delay

Tvc(cbch) (0,158

©1nuz.g3pe+u4 / 25
4219+ 0.0
p1 -35.42 + 0.00

4000 [

pD

[ns]

3000

2000

1000

TVC(cbch) (0,15,1)

4000 o, po

AT rnuLurze+ud [ 25
4193+ 0.0
-33.2+ 0.0

pl

3000

2000 -

100 C =30.12 [pS/Ch] -

0 1
50 100

TP delay

TVC(c,b Ch) (0, 15 5

4000 [ DO

pl

[ns]

-1 nui43ze+04 [ 25
4212+ 0.0
-36.44 + 0.00

3000

2000

oo C = 27.44 [ps/ch

TP delay

TVC(c,b ch) (0,15,9

4000 fm, PO

[ns]

-/ 1ur.o 1be+U4 ] 25
4257+ 0.0
pL -35.52:+ 0.00

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(eb,ch)=(0, 15, 12

- sr3e+u4 /25
E. pO 4230+ 0.0
p1 -35+ 0.0

TP delay [ns]

TP delay [ns]

TVC(eb.ch)=(0, 15, 13

4000 [

3000 -

2000

1000 |~

T nui syve+ud / 25
pO 4221+ 0.0
pl -34.85+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,15,2)

- Y

K™ nun szae+04 /25
4217+ 0.0
p1 -35.44 £ 0.00

TP delay

TVC(cbch) (0,156

[ns]

)
1nun 1 pe+ud [ 25
E- pO 4218+ 0.0
: pl -36.56 + 0.00
- C=27.35 [psichty,
| L --
50 100
TP delay [ns]

TVC(eb,ch)=(0, 15, 10

F-. o

/i 354e+04 | 25
4277+ 0.0
p1 -36.21+ 0.00

TVC(cbch) (0,15,3)

X1 zlie+ud | 25
4212+ 0.0
pL -34.99+ 0.00

4000 [

po

3000

2000

1000

TP delay

TVC(c, bch) (0,15, 7

4000 [ PU

[ns]

-1 nui gble+u4d / 25
4234+ 00
Pl -36.73% 0.00

3000

2000 -

1000 C

50 1(;0
TP delay

Tvc(cbch) (0,15, 11

4000 [ pO

pl

[ns]

T nan2,uye+u4 | 25
4253+ 0.0
-34.56 + 0.00

3000 -

2000 -

w00 C = 28.93 [ps/ch]

50

1
100

TP delay [ns]

TVC(Cbch) (0,15, 14

~ i 1uve+ud / 25
= pD 4217+ 0.0
[ pl -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (0, 15,15

- szse+ud [ 25
E. pO 4227+ 0.0
p1 -35.07 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

AT nuis4/e+04 /25
P, po 4183+ 0.0
pl -36.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,0,4

- L 3/4e+04/ 25
™, pO 4165+ 0.0
pl -36.09 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

©1nuiLg1oe+u4 / 25
= po 4188+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T 1 o0e+ud /25
= po 4201+ 0.0
pl -35.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1

AT rnuiLzioe+ud [ 25
' po 4185+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O

- 1 3uve+u4 25
pO 4174+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

T nugp/ze+ud [ 25
po 4210+ 0.0
p1 -34.69 £ 0.00

TP delay [ns]

TVC(cbch) (1,0,13

T nai ruge+ud 25
pO 4201% 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (1,0,2)

K™ 1nui410e+04 /25
i po 4179+ 0.0
[ p1 -35.68 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

-1 nuiL45ze+04 [ 25
-, pO 4184+ 0.0
3 pl -35.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

T rnuz.z41e+04 /25
= po 4228+ 0.0
- pl -34.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

~ 1 nuiLgope+u4 / 25
4214+ 0.0
-37.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

A1 L 4ave+Uad | 25
pe=, po 4202+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

-1 nui bgbe+u4 / 25
e, pO 4195+ 0.0
p1 -36.42:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T, /‘JBe+U4/25
= po 4236+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

Tinairo1e+u4 /25
- pO 4207+ 0.0
p1 -36.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0

AT inuissre+u4 /25
P po 4176+ 0.0
pl -36.26 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (11,4

- i 318e+04 / 25
- pO 4176+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(ebioh)=(1, 1,8

T L rze+u4 [ 25
= po 4195+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(cbch) (1,1,12

TrnuiLszie+u4 /25
= po 4211+ 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1)

T 1sse+ud [ 25
., pO 4196+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

=1 nui 4nbe+04 / 25
4194+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

[ C =29.08 [ps/ch] ]

T nue.1/ze+04 /25
4220+ 0.0
-34.39 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

Tinaigize+ud [ 25
pO 4204+ 0.0
pl -36.86 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (1,1,2)

AT 1nun ssre+04 /25
- po 4195+ 0.0
L pl -35.4+ 0.0

3000

TP delay [ns]

TVC(cbch) (11,6

1 nuiL449e+04 | 25
[F-e. pO 4203+ 0.0
- pl -36.08 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 1, 10

- C = 28.98 [ps/ch]

Tz 1y /e+u4 [ 25
-, po 4227+ 0.0
- pl -34.5+ 0.0

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,1,14

© i syse+u4 [ 25
4214+ 0.0
-36.9 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT 1 nuiL,140e+U4 / 25
P, po 4203+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

“nun1.45e+04 [ 25
4203+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

1)
T naiL 3 /ve+u4 [ 25
- po 4230+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (11,15

T nai z4ze+u4 [ 25
- pO 4204+ 0.0
p1 -35.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

AT inuiisre+ud /25
. po 4195+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (1,24

T rnuiLzz1e+u4 [ 25
e, pO 4213+ 0.0
p1 -35.94  0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1,2,8

1 nuiLgEYve+U4 / 25
= po 4197+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (1,212

T4z ie+u4 /25
= po 4240+ 0.0
pl -36.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AT rnuniyie+ud [ 25
., po 4196+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nui 338e+04 / 25
pO 4232+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

Tinugl/1e+u4 /25
po 4219+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (1,213

Tonan L Sse+ud [ 25
pO 4239+ 0.0
pl -37.29+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,2,2)

AT 1nuLusre+ud /25
_- po 4209+ 0.0
L pl -35.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

-1 nui34ze+04 [ 25
- pO 4240+ 0.0
[ pl -36.03+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

1000

Tnun1gae+u4 /25
o=, po 4228+ 0.0
I pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (1,2 14

1000

T rure+u4 [ 25
- pD 4239+ 0.0
L pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

AT 1L izoe+ud [ 25
- po 4203+ 0.0
pl -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

=1 nui buze+u4 / 25
- pO 4237+ 0.0
pL -35.71% 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T b‘JBe+U4/25
= pO 4251% 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(C, bch) (1,215

T nui r3ve+ud [ 25
= pO 4235+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

A7 1 nun suoe+u4 / 25
4206+ 0.0
-37.29+ 0.00

TP delay [ns]

TVC(cbch) (1,34

T rnan 1. 73e+04 /25
[, PO 4200+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

T rnuiLgye+u4 [ 25
- pO 4231+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (1,312

T i ssse+u4 / 25
- po 4194+ 0.0
pl -33.45+ 0.00

[ C =29.90 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,1)

- po

AT 1L ssse+ud [ 25
4207+ 0.0
-35.88+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

-1 nui 4uze+u4 [ 25
E pO 4232+ 0.0
pL -38.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,9

Tinuigzze+u4 [ 25
- pO 4249+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,313

~ 1 nui sboe+ud / 25
feee. 4195+ 0.0
-33.56 + 0.00

[ C=29.79 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

- po

pl

K™ 1 nuiouye+ud / 25
4210+ 0.0
-36.18 + 0.00

TP delay [ns]

TVC(cbch) (1,36

T rnu1bre+ud [ 25
3 pO 4232+ 0.0
[ pl -38.36+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

1000

© i, ru4e+04 [ 25
. po 4270+ 0.0
- pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (1,3 14

Sruae 1042125
F--. pD 4188+ 0.0
L p1 -33.44 £ 0.00

F C = 29.90 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

o=, po

p1

AT rnuiL4ire+ud [ 25
4225+ 0.0
-36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

=1 nui byle+u4d / 25
- pO 4237+ 0.0
pL -37.98+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T 4me+u4/25
- pO 4253+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,315

Tinuias/e+ud [ 25
= pO 4199+ 0.0
-34.14+ 0.00

[ C=29.29 [ps/ch]

PR I S S |
50 100

TP delay [ns]



TVC(cbch) (1,4,0)

4000

3000

2000

1000

K™ nui p4ze+04 /25
- po 4221+ 0.0
p1 -38.4+ 0.0

TP delay [ns]

TVC(cbch) (14,4

4000

3000

2000

1000

Tnun g zze+ud [ 25
= pO 4203+ 0.0
pl -35.08:+ 0.00

50 10‘0
TP delay [ns]

TVC(eb.oh)=(1, 4,8

4000

3000

2000

1000

T rnuz4n1e+u4 [ 25
- pO 4243+ 0.0
-36.7 + 0.0

0

1
50 100

TP delay [ns]

TVC(cbch) (1,412

4000

3000

2000

1000

~ i bo4e+04 / 25
= po 4208+ 0.0
pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1)

AT 1 nuiLogoe+ud [ 25
F po 4225+ 0.0
pl -38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= nuiL 53 /e+ud [ 25
== po 4217+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

~ 1 nug ysbe+ud / 25
- po 4270+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (1,4,13

Tonan g age+ud [ 25
- pO 4217+ 0.0
pl -35.99+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,4,2)

AT 1nuorze+Vd /25
_l' - po 4227+ 0.0
o pl -38.12+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,4,6

T b8 /e+u4 [ 25
- pO 4222+ 0.0
[ pl -36.58+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

~1nuz1e5e+04 / 25
- po 4291+ 0.0
- pl -37.48 + 0.00

0

TP delay [ns]

TVC(cbch) (1,4,14

T rnuiLg31e+u4 /25
- pD 4220+ 0.0
L p1 -35.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

PSRN

e po
pL

(22e+04 125
4229+ 0.0
-37.77 + 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

-,

Fo=. pO
pl

18oe+04 | 25
4228+ 0.0
-35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1,4,

X~ g,

= po
pL

1)
163e+U4 / 25
4278+ 0.0
-36.44 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

SRR

e po
p1

(19e+u4 | 25
4212+ 0.0
-36.27 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0)

T 14ve+ud /25
- pO 4192+ 0.0
pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (1,54

T Lz pe+ud [ 25
o, pO 4225+ 0.0
pl -36.08:+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (1, 5 8

T rnuzproe+u4 | 25
po 4236+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(cbch) (1,5,12

Ty rae+u4 /25
pO 4253+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

AT 1 nuLouse+ud [ 25
Frase po 4197+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nui bz4e+04 [ 25
pO 4226+ 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

~ 1 nuy gbae+ud / 25
- po 4260+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (1,5,13

~ 1 nuiLyuze+ud / 25
- pO 4248+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,5,2)

TP delay [ns]

TVC(cbch) (1,56

K™ 1nuiLoyre+ud /25
Freee po 4201+ 0.0
L pl -35.77 + 0.00

3000

©1nuiL414e+04 / 25
- pO 4242+ 0.0
- -36.8+ 0.0

TP delay [ns]

TVC(cbch) (1, 5 10

1000

0

©nuigblve+ud | 25
- po 4274+ 0.0
- pl -37.03 + 0.00

TP delay [ns]

TVC(cbch) (1,514

T Lole+ud /25
- pD 4246+ 0.0
L pl -35.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

[ C=28.43 [ps/ch

AT 1 nuz.usbe+ud [ 25
= po 4210+ 0.0
pl -35.18+ 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

- nu /v3e+04 / 25
- pO 4244+ 0.0
pL -35.67+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

AR au5e+u4/25
- po 4282+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(C, bch) (1,5,15

T nuioole+ud /25
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- po 4202+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (2,11,7

- nui1ble+u4 / 25
- pO 4214+ 0.0
pL -35.82:+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 11 11

Tonan . /4e+04 /25
= po 4229+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(cbch) (211,15

T inuib1ye+ud [ 25
= pO 4237+ 0.0
p1 -35.79+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

T rnuiza4e+04 [ 25
.. pO 4197+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(cbch) (2,124

- i zog4e+u4 | 25
- pO 4220 0.0
pl -36.26+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

Tz zg4e+04 | 25
= po 4203+ 0.0
p1 -34.82 + 0.00

TP delay [ns]

TVC(cbch) (212,12

T rnuiLzrse+u4 | 25
= po 4247+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

F PO

pl

AT rnuiLs1/e+ud [ 25
4208+ 0.0
-38.19+ 0.00

TP delay [ns]

TVC(cbch) (2,125

F- pO

=1 nui 4u8e+04 / 25
4231+ 0.0
-36.65+ 0.00

TP delay [ns]

TVCEbeN)=(2, 12,9

e, po

pl

- uu|44453+u4/25
4229+ 0.0
-35.73 + 0.00

TP delay [ns]

TVC(cbch) (212,13

e, pO
p1

Tinai 1 ve+ud [ 25
4227+ 0.0
-34.84+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)

TP delay [ns]

TVC(cbch) (2.12,6

AT 1nunzzae+04 /25
o= po 4219+ 0.0
L pl -37.44 + 0.00

3000

T w1 48e+04 /25
- pO 4237+ 0.0
- pl -36.61+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

1 nuiLpoge+u4 / 25
4236+ 0.0
-35.1+ 0.0

TP delay [ns]

TVC(cbch) (212,14

T r4e+04 /25
. pD 4243+ 0.0
L pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

AT 1L zzse+ud [ 25
4218+ 0.0
pl -36.59 + 0.00

po

TP delay

TVC(c, bch) (2,12,7

- pO

[ns]

-1 nui bzae+u4 [ 25
4267+ 0.0
pl -37.59 + 0.00

50 100
TP delay

TVC(cbch) (2, 12 11

= pO

[ns]

T nuiasse+ud [ 25
4239+ 0.0
p1 -35.14+ 0,00

TP delay

TVC(cbch) (212,15

[ns]

T nui zoge+ud [ 25
4233+ 0.0
p1 -35.12+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

T 1roe+u4 [ 25
.. pO 4204+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (2,134

- i blye+ud / 25
pO 4240+ 0.0
p1 -40.05+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

T L bele+u4 /25
- pO 4204+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (213,12

~rnuiLzupe+u4 / 25
- po 4230+ 0.0
pl -36.69 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,13,1)

= po

AT 1 nunayze+ud [ 25

pl -36.5 + 0.0

4222+ 0.0

TP delay [ns]

TVC(c, bch) (2,135

1L brze+u4 | 25

- pO 4244+ 0.0
pL -39.53+ 0.00

TP delay [ns]

TVCEeben)=(2 13,9

11 b8be+u4 | 25

- pO 4229+ 0.0
pL -34.83+ 0.00

TP delay [ns]

TVC(cbch) (213,13

i zase+u4 [ 25

e, pO 4224+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000 [,
3000
2000

1000

TVC(CbCh) (2,13,2)

A7 1 nui suve+u4 / 25
_- po 4212+ 0.0
L pl -36.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,136

=1L BUse+u4 / 25
- po 4254+ 0.0
[ pl -39.65 + 0.00

TP delay [ns]

TVC(cbch) (2,13,10

1000

1 nuiLyove+ud / 25
- po 4240+ 0.0
- pl -35.41+ 0.00

TP delay [ns]

TVC(cbch) (2.13,14

T 1s3e+u4 / 25
pD 4228+ 0.0
pl -35.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

AT 1nun L zoe+ud [ 25
- po 4226+ 0.0
pl -36.98+ 0.00

TP delay [ns]

TVC(c, bch) (2,137

-1 nuz.ulbe+ud / 25
E pO 4256+ 0.0
pL -39.15+ 0.00

TP delay [ns]

TVC(ehoh)=(2,13, 11

TinuiLpr1e+u4 /25
e pO 4241% 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(cbch) (2,13,15

Tinuiay/e+ud /25
po 4229+ 0.0
-35.66 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 14 0)

T 140e+04 / 25
pee,. pO 4174+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (2,144

- i 193e+04 / 25
™, pO 4183+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (2, 14 8

T nuig.z4ve+04 | 25
= po 4227+ 0.0
p1 -37.47 + 0.00

TP delay [ns]

TVC(cbch) (214,12

T rnuiLgs1e+u4 / 25
= po 4214+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

AT 1 nuiL1u4e+U4 [ 25
pese,, po 4178+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(c, bch) (2,145

-1 nui 398e+u4 / 25
e pO 4212+ 0.0
pL -37.34+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

~ 1 nug. r40e+u4 / 25
= pO 4251+ 0.0
pl -37.37 + 0.00

TP delay [ns]

TVC(cbch) (214,13

1 nuiL oyve+ud / 25
- pO 4214+ 0.0
pl -37.12+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (2, 14 2)

T ir4e+04 /25
= pO 4177+ 0.0
L p1 -35.81+ 0.00

TP delay [ns]

TVC(cbch) (2.14,6

- 1 1uiL babe+u4 / 25
- pO 4217+ 0.0
[ pl -36.59+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 14,10

1000

0

~1nuiLyave+u4 | 25
- po 4261+ 0.0
- pl -37.26 + 0.00

TP delay [ns]

TVC(cbch) (214,14

~ 1L byse+u4 / 25
= pD 4212+ 0.0
+ pl -36.27 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2, 14 3)

S yoa5 /25
o=, pO 4182+ 0.0
pL -34.77:+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,7

S rnan 1.54e404 [ 25
- pO 4213+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(cbch) (2, 14 11

T nai r34e+04 / 25
- po 4265+ 0.0
pl -37.59 + 0.00

TP delay [ns]

TVC(cbch) (2,14,15

Tinuig13e+u4 /25
- po 4213+ 0.0
-35.91+ 0.00

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 15 0)

T ssze+u4 [ 25
4175+ 0.0
-35.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,154

- rnuiLzy1e+u4 / 25
4190+ 0.0
-35.7+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

1z zgge+u4 | 25
- pO 4211+ 0.0
p1 -36.74 + 0.00

TP delay [ns]

TVC(cbch) (2,15,12

T i sode+u4 / 25
= po 4219+ 0.0
pl -35.32+ 0.00

TVC(chh) (2,15,1)

3000

2000

1000

AT Ui 1Z/e+ud [ 25
4000 e po 4186+ 0.0
pl -35.59+ 0.00

TP delay [ns]

TVC(cbch) (2,155

4000 R

3000

2000

1000

-1 nui 30ze+u4 / 25
pO 4187+ 0.0
pL -34.72:+ 0.00

TP delay [ns]

TVC(ebeh)=(2 15,9

4000 [

3000

2000

1000

T nu zoze+u4 [ 25
po 4238+ 0.0
pl -36.12 + 0.00

TP delay [ns]

TVC(cbch) (215,13

4000 [

3000

2000

1000 [~

Tanaizsse+ud [ 25
pO 4208+ 0.0
-34.92+ 0.00

TP delay

[ns]

il
100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (2,15,2)

A~ 1nuiiore+u4 /25
P po 4191+ 0.0
o pl -35.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,156

-1 nuiLa95e+04 [ 25
4200+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

T nuizugle+ud | 25
e, po 4267+ 0.0
o pl -37.49+ 0.00

TP delay [ns]

TVC(cbch) (2,15, 14

T gsre+u4 [ 25
- pD 4224+ 0.0
[ p1 -35.44 + 0.00

3000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

AT 1L ssve+ud [ 25
- po 4198+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c, bch) (2,157

S nun1p1e+u4 /25
4212+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(ehch)=(2, 15, 11

T nuipz1e+u4 / 25
= po 4239+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(cbch) (2,15,15

T nui sove+ud / 25
e pO 4212+ 0.0
p1 -33.3+ 0.0

[ C=30.03[ps/ch] . 1]

PR I S S |
50 100

TP delay

[ns]



TVC(cbch) (3,0,0)

4000

3000

2000

1000

Srna Loerud 25
pO 4204+ 0.0
p1 -38.15+ 0.00

1=
50 100

TP delay [ns]

TVC(cbch) (3,0,4

4000

3000

2000

1000

T by e+ud [ 25
pO 4216+ 0.0
p1 -37.63+ 0.00

TP delay [ns]

TVC(cbch) (3 0,8

4000

3000

2000

1000

0

1z gsze+04 | 25
- po 4169+ 0.0
p1 -34.04 + 0.00

0

TP delay [ns]

TVC(cbch) (3,0,12

4000

3000

2000

1000

- iz e+04 [ 25
- po 4241% 0.0
p1 -35.7+ 0.0

PR TR S ST R
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,01

A1 L Sa0e+U4 | 25
P e po 4175+ 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

~ 1 nuiL Yo /e+u4 / 25
[ pO 4208+ 0.0
pL -36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

-1 iurs_Tose+Ud [ 25
- po 4212+ 0.0
p1 -34.75+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, O 13

T nuioyse+ud [ 25
[ pO 4224+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000
3000
2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,0,2)

X~ 1 L 583e+U4 [ 25
po 4194+ 0.0
p1 -37.2+ 0.0

TP delay [ns]

TVC(cbch) (3,0,6

T L, 745e+04 / 25
4231+ 0.0
-38.1+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

T z.44e+04 /25
[=, po 4203+ 0.0
[ p1 -34.12 % 0.00

3000

TP delay [ns]

TVC(cbch) (3,0,14

T rnuiLgrve+u4 [ 25
[= pD 4234+ 0.0
L pl -36.19+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3

x- 1 L Suae+Ud [ 25
== po 4202+ 0.0
pL -37.18+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

-1 nuz Ugbe+u4 / 25
[, pO 4238+ 0.0
p1 -38.03+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, O

T, /4ze+u4/25
. po 4209+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (3, O 15

Tinuin3/e+ud [ 25
e pO 4217+ 0.0
p1 -34.74+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,1,0)

=, pO

T Looe+ud /25
4180+ 0.0
-37.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (31,4

E pO
pL

- i bzoe+ud / 25
4201+ 0.0
-36.12+ 0.00

-

e 4
5(‘) 10‘0
TP delay [ns]
TVC(c,b ch) ( 3 1,8
= po

1z bz8e+04 | 25
4190+ 0.0
-35.46 + 0.00

1
0 50 100

TP delay [ns]

TVC(cbch) (3,1,12

A1,

robe+u4 /25
4214+ 0.0
-34.74 + 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

- PO

pl

AT rmuiLbrie+ud /25
4188+ 0.0
-37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

=1 nui bobe+u4 / 25
4189+ 0.0
-35.5 % 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (3 1,9

- po
pl

-1 nuy gbye+ud / 25
4197+ 0.0
-36.24+ 0.00

TP delay [ns]

TVC(cbch) (31,13

T nui ogse+ud / 25
4222+ 0.0
-36.78 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,1,2)

. po

pl

A7 1 nui ozye+ud /25
4180+ 0.0
-36.27 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,1,6

X1,

po
p1

Ibze+V4 | 25
4207+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(cbch) (3, 1 10

=1 nuig,

1000

0

L™ DO
p1

r98e+U4 /25
4196+ 0.0
-35.03 + 0.00

TP delay [ns]

TVC(cbch) (31,14

[= o
pl

T4l e+u4 /25
4209+ 0.0
-35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3)

- po

AT 1L rove+ud [ 25
4202+ 0.0
-36.2+ 0.0

p1

TP delay

TVC(c,b ch) (3 1,7

-, pO

[ns]

-1 nuz.0yle+ud / 25
4219+ 0.0
pl -36.68 + 0.00

50 1(;0
TP delay

TVC(c,b ch) (3, l

[ns]

T, 1bze+u4/25
4213+ 0.0
-36.3 + 0.0

1
50 100

TP delay

TVC(cbch) (31,15

- pO
p1

[ns]

T nuip4ye+ud [ 25
4219+ 0.0
-35.3+ 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,2,0

A7 1 nun suoe+u4 / 25
- po 4169+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(cbch) (32,4

-1 1zee+u4 | 25
- pO 4178+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (3 2,8

©1nuiz,uzve+u4 | 25
- po 4222+ 0.0
pl -35.75+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,212

1L page+u4 [ 25
- po 4227+ 0.0
pl -35.55+ 0.00
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50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1

A1 1L 4uae+Ua | 25
- po 4190+ 0.0
pL -36.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

=i buge+u4 / 25
4203+ 0.0
-37+ 0.0

TP delay [ns]

TVC(c,b ch) (3 2,9

T nup.Z/oe+ud [ 25
4236+ 0.0
-36.5 % 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,2,13

Tinuigrse+ud [ 25
- pO 4227+ 0.0
pl -35.87+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

0

4000

2000

1000

TVC(cbch) (3,2,2)

AT inun3r4e+04 /25
[ po 4196+ 0.0
L pl -37.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

- 1L bube+u4 / 25
[= pO 4202+ 0.0
[ pl -36.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 2 10

1 nuzpgyve+ud | 25
4276+ 0.0
-38.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,214

~ 1 nuiLbo5e+U4 / 25
[, pD 4220+ 0.0
L p1 -35.43+ 0.00

3000
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50 100

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

AT 1nuiL1r4e+U4 [ 25
- po 4196 + 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

- rnui b3/e+04 / 25
- pO 4207+ 0.0
pL -35.86+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 2

T, /44e+u4/25
e pO 4268+ 0.0
pl -37.35+ 0.00

TP delay [ns]

TVC(C, bch) (3,215

T nui ozee+ud [ 25
pO 4235+ 0.0
p1 -35.39+ 0.00

TP delay [ns]
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1000

0

4000

3000

2000

1000

TVC(cbch) (3,3,0

AT 1nuaizure+V4 /25
., po 4189+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (33,4

- i usze+ud / 25
pO 4210+ 0.0
p1 -34.31: 0.00

TP delay [ns]

TVC(cbch) (3 3,8

©1nuiLyu4e+u4 / 25
po 4212+ 0.0
pl -35.32+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,312

1 nuiL4ove+04 / 25
pO 4232+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,1

AT 1 nunL1ose+ud [ 25
- po 4197+ 0.0
p1 -36.64.+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nu 3vze+u4 [ 25
pO 4223+ 0.0
pL -35.45+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

~ 1 nu g48e+u4 25
po 4221+ 0.0
p1 -34.83+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,313

T nui sove+ud / 25
pO 4234+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,3,2)

K™ 1 nui iooe+V4 / 25
[ po 4214+ 0.0
L pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

- L 303e+04 / 25
- pO 4232+ 0.0
[ pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

© 1 nuizugyve+ud | 25
= po 4250+ 0.0
I pl -35.71+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

T rnuiLgi0e+04 / 25
[, pD 4217+ 0.0
[ p1 -36.02+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

X 1L ia1e+ud [ 25
[, po 4213+ 0.0
pL -34.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

-1 nui 3b4e+u4 / 25
pO 4249+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 3

SRR bzbe+u4/25
. pO 4251% 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(C, bch) (33,15

T nui ogae+ud [ 25
pO 4239+ 0.0
p1 -36.58 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,4,0)

AT inuiar3e+04 /25
4194+ 0.0
-36.83+ 0.00

TP delay [ns]

TVC(cbch) (34,4

= o,

- pO
pL

1zze+U4 /25
4228+ 0.0
-36.18 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3 4,8

T rnuig.Uole+ud / 25
4211+ 0.0
-34.45+ 0.00

TP delay [ns]

TVC(cbch) (3,4,12

- po
p1

1 nuiL4ype+u4 / 25
4237+ 0.0
-36.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1)

B po

pl

AT rnuiLszie+u4 [ 25
4191+ 0.0
-36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

-~ pO

-1 nui 4z3e+04 [ 25
4233+ 0.0
-36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

. HUb4J_Le+U4IZS
4230+ 0.0
-35+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,4,13

Ao,

(4p0e+u4 [ 25
4223+ 0.0
-37.42+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,4,2)

- po

pl

K™ 1 nui ooze+u4 /25
4187+ 0.0
-35.91+ 0.00

TP delay [ns]

TVC(cbch) (34,6

[™ P°

p1

-1 Ui bose+ud / 25
4242+ 0.0
-37.53+ 0.00

TP delay [ns]

TVC(cbch) (3, 4 10

- pO

pl

© iz 114e+u4 /25
4240+ 0.0
-35.93+ 0.00

0

TP delay [ns]

TVC(cbch) (3,4,14

A1,

r1ve+U4 /25
4223+ 0.0
-37.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3)

-, po

p1

AT 1 nuiL4yse+ud [ 25
4206+ 0.0
-36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

RRATTIE

[T pO
pl

11e+04 /25
4249+ 0.0
-36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

-, pO

pl

T a/ze+u4/25
4245+ 0.0
-35.07 + 0.00

TP delay [ns]

TVC(C, bch) (3,4,15

-, pO
p1

T inai srae+u4 /25
4226+ 0.0
-36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(cbch) (3,50)

T pa/e+ud /25
4202+ 0.0
-35.37 + 0.00

TVC(cbch) (3,54

pO
pl

1
50 100

TP delay [ns]

T 1 3be+04 /25
4214+ 0.0
-35.48 + 0.00

5(') 10'0
TP delay [ns]
TVC(cbch) (3 5,8
e, pO

-1 nug.ysze+ud [ 25
4240+ 0.0
-35.09+ 0.00

TP delay [ns]
TVC(cbch) (3,5,12)
© i pzse+u4 / 25
4000 [, pO 4294+ 0.0
pl -36.48 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

po

AT nuiLszse+u4 [ 25
4228+ 0.0
-35.86 + 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (3 55

-1 nui 4yze+u4 [ 25
4204+ 0.0
-34.8+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (3 59

=,

pO
pl

T nu.b41e+U4 / 25
4270+ 0.0
-35.48 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (3, 5 13

[,

Tinaiaz/e+ud [ 25
4281+ 0.0
-36.86 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000
2000

1000

4000

3000

2000

TVC(cbch) (3,52)

-36.02 + 0.00

T Lsie+ud /25
o, pO 4232+ 0.0
[ pl -36.02+ 0.

1000

TP delay [ns]
TVC(cbch) (3,56)
=1 nur 455e+04 [ 25
- pO 4208+ 0.0
: pl -34.48:_0.:‘
L C =29.00 [ps/ch .
1 L i
50 100

TP delay [ns]

TVC(eb,oh)=(3, 5, 10

=1 nug,

0

pO
pl

181e+04 /25
4284+ 0.0
-35.05+ 0.00

TP delay [ns]

TVC(cbch) (3,5,14

1000

[ "D
pl

~1nuiLg44e+04 / 25
4282+ 0.0
-36.91+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3)

po

p1

AT 1nuiLgrze+u4 [ 25
4240+ 0.0
-35.91+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 57

- pO
pl

-1 nui 488e+04 / 25
4220+ 0.0
-34.46 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 5

T aube+u4/25
4289+ 0.0
-35.15+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 5 15

[ pO

T nuia30e+u4 / 25
4295+ 0.0
-37.01+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

A7 1 nui usye+ud / 25
- po 4175+ 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(cbch) (36,4

Tz 3e+u4 [ 25
- pO 4240+ 0.0
p1 -36.84 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

TrnuE.s/ (e+u4 [ 25
4229+ 0.0
-36.7 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,6,12

T L syse+ud [ 25
- po 4222+ 0.0
pl -35.26 + 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,1

AT rnunizze+ud [ 25
- po 4187+ 0.0
pl -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nui431e+04 / 25
- pO 4256+ 0.0
pL -37.66+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

~ 1 nup.byle+ud / 25
- po 4257+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (3,6,13

T inai ssze+ud [ 25
pO 4234+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,6,2)

1000

A7 1 nun suse+ud / 25
L™ po 4204+ 0.0
o pl -35.39+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (36,6

-1 nur395e+04 / 25
™. po 4258+ 0.0
[ pl -37.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

T nuz 3o /e+u4 [ 25
po 4250+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(cbch) (3,6,14

~1nuiLquze+ud [ 25
pD 4246+ 0.0
pl -36.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1 nuiLSbae+u4 25
- po 4192+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

~nui brze+u4 /25
Fu, pO 4262+ 0.0
pL -38.03+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6

T au4e+u4/25
. po 4265+ 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

T nui syae+ud / 25
pO 4239+ 0.0
p1 -35.74+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

S 1se+ud [ 25
- PO 4196+ 0.0
pl 353+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,7.4)

rnar” ysz2 /25
p0 4205+ 0.0
pl -35.6 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T rnuiLyrve+u4 | 25
PD 4213+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

T szye+ud [ 25
PO 4225+ 0.0
pl -34.83+ 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AT 1 nuiLzzye+u4 | 25
[, po 4201% 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

- nui 119e+04 / 25
4194+ 0.0
-34.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T nuw, rz9e+04 [ 25
DO 4240+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (3,7,13

T zyge+u4 [ 25
- pO 4208+ 0.0
pl -35.12 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

TP delay [ns]

TVC(cbch) (37,6

X~ 1 zuse+U4 [ 25
[ po 4216 0.0
3 pl -36.21+ 0.00

3000

- i 3326404/ 25
L= pO 4213+ 0.0
I pl -36.01 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

T nuz133e+04 / 25
L= DO 4255+ 0.0
r pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (37,14

-y se+ud [ 25
PD 4209+ 0.0
pl -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT 1nuiL1rye+u4 /25
[= PO 4216+ 0.0
p1 -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

- nun 333e+04 / 25
= PO 4226+ 0.0
pL -35.77  0.00

50 1(;0
TP delay [ns]

TVC(cbch) (37,11

i yage+u4 [ 25
4254+ 0.0
-37.1+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,7,15

T 313e+u4 / 25
" PO 4216+ 0.0
pl -35.55 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

A7 1 nui zove+ud / 25
[ ™, po 4219+ 0.0
pl -37.47 + 0.00

TP delay [ns]

TVC(cbch) (3,84

- i Zgse+u4 [ 25
[, po 4222+ 0.0
pl -35.45+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 8,8

1 nuz.8ype+u4 / 25
r PD 4250+ 0.0
pl -38.38 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,812

T L 53e+u4 / 25
- po 4238+ 0.0
pl -36.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,1)

AT 1 nunLsuze+ud [ 25
- po 4198+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

-1 nuiLa3ge+ud | 25
[o-, po 4210+ 0.0
pl -35.28 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 8,9

~ 1 nub.U3be+u4 [ 25
[ po 4265+ 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(cbch) (3,8,13

Tinuin4ie+ud [ 25
= pO 4234+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,8,2)

AT 1nuiasie+ud /25
[ = po 4200+ 0.0
L pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (3,86

T 41 /e+04 /25
[= pO 4217+ 0.0
[ pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (3, 8 10

1 nuiz.493e+u4 | 25
__- DO 4272+ 0.0
- pl -38.08 + 0.00

50 100

TP delay [ns]

TVC(cbch) (3,814

T rnuiLgi0e+04 / 25
[=. pD 4232+ 0.0
[ p1 -36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3)

AT 1 nuiLobse+ud [ 25
[ po 4230+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

=1 nuiLebe+ud [ 25
o po 4239+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 8

T, m::e+u4/25
4276+ 0.0
-38.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,8,15

T inuiaroe+ud [ 25
= pO 4242+ 0.0
p1 -35.82+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,9,0

A7 1nui 1zae+04 /25
™, po 4215+ 0.0
p1 356+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (39,4

- i bple+ud / 25
P pO 4208+ 0.0
pl -35.03+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 9,8

1nuzpude+ud | 25
- po 4215+ 0.0
p1 -34.97 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,9,12

T L p4se+ud / 25
4270+ 0.0
-36.6 + 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,91

AT 1L zove+ud [ 25
e, po 4231% 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(c,b ch) (3 9,5

“nui by re+u4 [ 25
e pO 4216+ 0.0
pL -36.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,9

T nu B 8e+u4 25
- po 4228+ 0.0
pl -35.54 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,9,13

T inuip41e+u4 / 25
- pO 4248+ 0.0
pl -36.75+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,9,2)

AT inuizrse+04 /25
™ po 4231+ 0.0
o pl -35.87+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (39,6

- L, 7uge+ud [ 25
- pO 4231 0.0
[ pl -35.99 0.00

3000

TP delay [ns]

TVC(cbch) (3, 9 10

© 1 nuzbyze+u4 | 25
- po 4249+ 0.0
- pl -34.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,9,14

~ 1L p4ze+u4 [ 25
- pD 4255+ 0.0
L pl -37.89+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3

AT nuiL,134e+U4 / 25
™, po 4229+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

- nu /3ze+04 / 25
- pO 4241+ 0.0
-35.1% 0.0

TP delay [ns]

TVC(c,b ch) (3, 9

Ty u::e+u4/25
- po 4255+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(C, bch) (3,9,15

T nui p3se+ud / 25
- pO 4247+ 0.0
p1 -37.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

T 1ove+u4 / 25
pO 4219+ 0.0
p1 37+ 0.0

TP delay [ns]

TVC(cbch) (3,10,4

- i zgle+ud / 25
pO 4205+ 0.0
pl -36.82:+ 0.00

e ]
% =
TP delay [ns]
TVC(c,b, ch) (3, 10 8

Tz 1y1e+u4 /25
po 4250+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (310,12

© 1 nuiL4spe+u4 / 25
pO 4234+ 0.0
pl -35.01+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (3,10,1)

AT rnuiLzive+ud [ 25
po 4221+ 0.0
pl -37.98+ 0.00

1=
100

TP delay [ns]

TVC(c, bch) (3,10,5

-1 nui b31e+u4 / 25
pO 4212+ 0.0
pL -36.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 10

[P,

Tinugn//e+ud [ 25
po 4263+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (310,13

Tinasiie+rud /25
pO 4234+ 0.0
pl -34.34+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (3,10,2)

1000
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,0)

AT zzze+04 /25

4182+ 0.0
-37.71+ 0.00

-
50 100

TP delay [ns]

TVC(cbch) (46,4

- i, {use+04 / 25
P, pO 4196+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(cbch) (4 6,8

T zuae+ud /25
PO 4217+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (4,6,12

~ 1 nuiL450e+U4 / 25
PO 4234+ 0.0
pl -36.23 + 0.00

TP delay [ns]
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1000
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TVC(cbch) (4,6,1

AT 1 nuiL1uze+u4 [ 25
Fu po 4199+ 0.0
pl -38.41+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,5

- yre+0d [ 25
™, DU 4189+ 0.0
pl -37.2+ 0.0

[ C =26.88[ps/c ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 6,9

Tnair31e+u4 /25
- DO 4226+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (4,6,13

T suse+u4 [ 25
- PO 4223+ 0.0
pl -36.3+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000
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1000
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3000
2000

1000

TVC(cbch) (4,6,2)

X1 ze+u4 [ 25
F = PO 4212+ 0.0
I pl -38.53+ 0.00

L™
50 100

TP delay [ns]

TVC(cbch) (46,6

- 1L fapbe+04 | 25
- pO 4195+ 0.0
I pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (4, 6 10

0

T z.43e+ud [ 25
- DO 4243+ 0.0
r pl -36.89 + 0.00

TP delay [ns]

TVC(cbch) (4,6,14

T s8se+ud [ 25
- PD 4212+ 0.0
I pl -35.88 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (4,6,3)

F pO

pl

TonunLzie+ud /25
4215+ 0.0
-37.89+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,7

S

= po
pl

bze+u4 | 25
4206+ 0.0
-36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (4,6,1

X~ g,

/a::e+u4 125
4246+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(C, bch) (4,6,15

T inui s1ye+ud [ 25
4230+ 0.0
-35.98 + 0.00

TP delay [ns]
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1000

0

4000
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2000

1000

TVC(cbch) (4,7,0

A7 nui zoze+U4 [ 25
.. po 4200+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (47,4

[ C =26.95[ps/c ]

- rnuiLz1ve+ud / 25
= pO 4212+ 0.0
p1 -37.1% 0.0

50 100
TP delay [ns]

TVC(eb,oh)=(4, 7,8

T 3pae+ud /25
= po 4225+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (4,7,12

T rnuiLg4ze+04 / 25
= po 4250+ 0.0
pl -35.76 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (4,7,1

x- 1L duse+ud | 25
' po 4214+ 0.0
pL -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,5

-1 nui 3bYe+u4 / 25
pO 4214+ 0.0
pL -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (4 7,9

T inup, 713e+04 / 25
po 4257+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (4,7,13

T 1 nuiLzyve+ud / 25
pO 4254+ 0.0
-36.31+ 0.00

PR U S S |
50 100

TP delay [ns]
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1000

TVC(cbch) (4,7,2)

AT 1nuisyie+u4 /25
po 4206+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

TVC(cbch) (4,7,6

1L 484e+04 | 25
pO 4220+ 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(cbch) (47,10

T zoze+04 /25
po 4254+ 0.0
pl -36.02 + 0.00

1
100

TP delay [ns]

TVC(cbch) (4,7,14

~ 1L 19ve+u4 / 25
pD 4254+ 0.0
pl -35.48+ 0.00

TP delay [ns]
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1000

TVC(cbch) (4,7,3)

x- 1 L dude+ud | 25
po 4225+ 0.0
pL -36.48+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

-1 nun bzye+u4 [ 25
pO 4231% 0.0
pL -35.31% 0.00

TVC(c,b ch) (4, 7

TP delay [ns]

1)
T nuiLgs/e+u4 [ 25
po 4256+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (4,7,15

Tonan g sze+ud [ 25
pO 4255+ 0.0
p1 -35.31% 0.00

TP delay [ns]
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TVC(c,b,ch)=(4,8,0)

Y96 /25
4186+ 0.0
-36.72+ 0.00

[

e, po

pl

TP delay [ns]

TVC(cbch) (4,84

T i z33e+u4 / 25
4190+ 0.0
-36.38 + 0.00

- pO
p1
- C N
1 1 --
50 100
TP delay [ns]
TVC(cbch) (4,88)
~ 1 nuiLboze+u4 / 25
s, pD 4196+ 0.0
-35+ 0.0

p1

TP delay [ns]

TVC(cbch) (4,812

= po
p1

T rnuiLzsse+u4 | 25
4204+ 0.0
-35.27 + 0.00

TP delay [ns]
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TVC(cbch) (4,8,1)

. PO

pl

A1 Jase+Ua | 25
4189+ 0.0
-36.78:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,5

-1 nui Zgbe+u4 [ 25
4195+ 0.0
-36.78 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,9

T nu 3o3e+u4 / 25
4212+ 0.0
-34.86 + 0.00

TVC(c,b Ch) (4, 8 13

TP delay [ns]

pO
p1

Tinan g Soe+ud [ 25
4206+ 0.0
-35.85+ 0.00

TP delay [ns]
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TVC(cbch) (4,8,2)

- PO

X~ 1L Toze+u4 [ 25
4202+ 0.0
p1 -36.15+ 0.00

TP delay

TVC(cbch) (4,86

[ns]

-1 nuiL4yze+04 [ 25
4212+ 0.0
pl -36.58 + 0.00

= "
L C = 27.34 [ps/ch .
4 e
TP delay [ns]

TVC(eb,oh)=(4, 8, 10

pO
pl

-1 nuzylee+ud [ 25
4240+ 0.0
-35.72+ 0.00

TP delay

TVC(cbch) (4,814

= PD

[ns]

= 1 i g0se+u4 [ 25
4208+ 0.0
p1 -36.23+ 0.00

TP delay

[ns]
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TVC(cbch) (4,8,3)

o po

A~ 1oL 18/e+ud [ 25
4204+ 0.0
pL -36.75+ 0.00

TP delay

TVC(c,b ch) (4 8,7

e pO

[ns]

-1 i 4a6e+04 | 25
4206+ 0.0
p1 -36.21% 0.00

50 160
TP delay

TVC(c,b ch) (4, 8

[ns]

T 44ue+u4/25
4230+ 0.0
-34.9 £ 0.0

TP delay

TVC(c,b ch) (4, 8 15

= pO

[ns]

S L7 re+ud [ 25
4205+ 0.0
p1 -34.93 + 0.00

TP delay

[ns]
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i

TVC(c,b,ch)=(4,9,0)
T r

vy39/25
4230+ 0.0
-36.63+ 0.00

TP delay [ns]

TVC(cbch) (49,4

- 1L Uoge+ud / 25
4215+ 0.0
-36.57 + 0.00

- pO
p1
FC ]
1 1 --
50 100
TP delay [ns]
TVC(cbch) (4,9,8)
©nuz 10ze+u4 / 25
= po 4218+ 0.0
pl -35+ 0.0

TP delay [ns]

TVC(cbch) (4,9,12

T gzoe+u4 [ 25
4244+ 0.0
-35.97 + 0.00

TP delay [ns]
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TVC(cbch) (4,9,1)

™ po

AT 1 nuLusse+ud [ 25
4229+ 0.0
-36.73+ 0.00
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1
100

TP delay [ns]

TVC(c,b ch) (4 9,5

F- pO

=1 nui U3be+u4 / 25
4223+ 0.0
-36.03 + 0.00

TP delay [ns]

TVC(c,b ch) (4 9,9

~ 1 nuw Zbbe+ud | 25
4239+ 0.0
-34.51+ 0.00

[ C =28.98 [ps/ch]
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1000

0

TVC(cbch) (4,9,2)

- o

T Laae+ud /25
4233+ 0.0
pl -36.93+ 0.00

TP delay

TVC(cbch) (4,9,6

- P°

[ns]

- nunL3z0e+04 [ 25
4244+ 0.0
-37.4+ 0.0

TP delay

TVC(cbch) (4, 9 10

= pO

[ns]

T 2.33e+04 /25
4239+ 0.0
pl -33.63+ 0.00

- C =29.74 [ps/ch] .

50

TP delay [ns]

1
100

TP delay [ns]

TVC(cbch) (4,9,13

T nui zope+ud 25
4245+ 0.0
-36.22+ 0.00

TVC(cbch) (4,9,14

4000 [,

T zoze+u4 [ 25
4229+ 0.0
-34.2+ 0.0

TP delay [ns]
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2000

wol- C = 29.24 [ps/ch]™, 1
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100

TP delay [ns]
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1000

TVC(cbch) (4,9,3)

- pO

p1

T Lzze+ud [ 25
4253+ 0.0
-37.21+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,7

feme pO
pl

“nun1.45e+04 [ 25
4251+ 0.0
-37.28 + 0.00

100

TP delay [ns]

TVC(c,b ch) (4, 9

T au=e+u4/25
4247+ 0.0
-34.53 + 0.00

[ C =28.96 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (4,9,15

Tinaizy/e+ud [ 25
4250+ 0.0
-35.563+ 0.00

TP delay [ns]
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1000

0

4000 [,
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2000

1000

TVC(c,b,ch)=( 4, 10,0)

== po

xomw Ce0a025
4161+ 0.0
p1 -35.32:+ 0.00

TP delay [ns]

TVC(cbch) (4,104

“ a1 /ye+u4 / 25
4213+ 0.0
pl -35.29+ 0.00

pO
TP delay [ns]
TVC(c,b, ch) (4, 10 8)
T g or4e+u4 / 25
= pO 4220+ 0.0
pl -36.42+ 0.00

TP delay

TVC(cbch) (4,10,12

[ns]

T zose+ud | 25
4249+ 0.0
pl -36.58 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4, 10 1)

=, pO

- i 140e+U4 [ 25
4187+ 0.0
-35.17 + 0.00

pl

TP delay [ns]

TVC(c, bch) (4,10,5

“nui1b/e+04 / 25
4206+ 0.0
-35.09 + 0.00

TP delay [ns]

TVC(ebeh)=(4, 10,9

e, po

pl

~ 1 nug noye+ud 25
4241% 0.0
-36.42+ 0.00

TP delay [ns]

TVC(C, bch) (410,13

Tinaisz/e+ud [ 25
4259+ 0.0
-36.13+ 0.00

TP delay [ns]
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1000
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1000

1000

TVC(CbCh) (4,10,2)

b, po

AT 1nuiasze+u4 /25
4180+ 0.0
p1 -34.96 + 0.00

TP delay

TVC(cbch) (4,10,6

[ns]

-1 3o8e+04 / 25
4228+ 0.0
pl -36.58 + 0.00

- pO
L C = 27.34 [ps/ch .
5(') 10'0 =
TP delay [ns]

TVC(cbch) (4, 10 10

0

= o

T zure+u4 /25
4267+ 0.0
pl -37.35+ 0.00

TP delay

TVC(cbch) (410,14

pD

[ns]

T rnuiLz4ze+04 [ 25
4252+ 0.0
pl -36.23+ 0.00

TP delay

[ns]

TVC(Cbch) (4,10,3)

4000 £ 20

AT rmuiLusre+ud [ 25
4187+ 0.0
pl -35.31+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (4,10,7

wr

2000 pO

[ns]

Y53 /25
4234+ 0.0
pl -35.74 + 0.00

3000

2000

w00 C =27.98 [ps/ch

TP delay

TVC(eh.ch)=(4, 10, 11

4000 [Gu.

[ns]

T nuiLp/oe+u4 [ 25
4259+ 0.0
-35.9 + 0.0

3000

2000

1000

TP delay

TVC(cbch) (4,10,15

4000 [u.

[ns]

T naizsae+ud [ 25
4232+ 0.0
p1 -35.77 + 0.00

3000

2000

1000

TP delay

[ns]
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1000

TVC(cbch) (4,11,0)

[ C =29.69 [ps/ch]

X~ 1 145e+04 [ 25
™, Y 4166+ 0.0
-33.69 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,11,4

T rnuiLz/4e+04 / 25
- pO 4228+ 0.0
pl -35.55+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(4, 11,8

1 nuz.5gve+u4 | 25
- PD 4226+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 12

X~ 1 sy1e+U4 /25
= PO 4239+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (4,11,1)

4000 (S po

p1

AT 1 nuiLudbbe+ud /25
4179+ 0.0
-33.56 + 0.00

3000

2000 -

ol C = 29.80 [ps/ch]

_L 1
50 100

TP delay

TVC(cbch) (4,11,5

4000 fm, pO

p1

[ns]

S nun1.29e+04 [ 25
4219+ 0.0
-36.04 + 0.00

3000 -

2000

1000 [~ C

50 1(;0
TP delay

TVC(eh.eh)=(4, 11, 9

T inu.z/ye+ud [ 25
4246+ 0.0
pl -35.52 + 0.00

4000 B

pO

[ns]

3000

2000

1000

TP delay

TVC(c, bch) (411,13

4000 e pO

[ns]

T 4z1e+04 /25
4237+ 0.0
pl -36.77 + 0.00
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1000

TP delay

[ns]
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1000

TVC(cbch) (4,11,2)

- C =30.00 [ps/ch] ™. 7

K™ 1nun g ave+ud [ 25
[, po 4187+ 0.0
u pl -33.33+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,116

-1 nun339e+04 / 25
. pO 4238+ 0.0
3 pl -36.94 + 0.00

TP delay [ns]

TVC(e.bch)=(4, 11, 10

T nuiLgye+u4 [ 25
- DO 4251+ 0.0
I pl -35.12 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X~ 1 3yoe+U4 [ 25
- po 4228+ 0.0
F pl -35.47 + 0.00

3000

TP delay [ns]
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1000
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1000

TVC(cbch) (4,11,3)

AT rnuiizie+ud [ 25
4185+ 0.0
pl -33.23+ 0.00

po

[ C =230.10 [ps/ch] .

_L 1
50 100

TP delay

TVC(cbch) (4,11,7

s, pO

[ns]

1L 6 /Be+u4 | 25
4251+ 0.0
pl -36.56 + 0.00

TP delay

TVC(cbch) (4, 11 11

e, pO

[ns]

T nuiL s Ye+u4 [ 25
4253+ 0.0
pl -35.86 + 0.00

TP delay

TVC(c, bch) (411,15

[ns]

T so4e+u4 [ 25
4226+ 0.0
pl -35.38 + 0.00

TP delay

[ns]
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TVC(CbCh) (4, 12 0)

T 1s4e+04 /25
P pO 4183+ 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(cbch) (4,124

- nuiL198e+u4 / 25
= pO 4204+ 0.0
pl -36.97+ 0.00

TP delay [ns]

TVC(cbch) (4, 12 8

T L, ro8e+U4 / 25
= po 4200+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (412,12

T rnuiLs13e+u4 /25
pO 4215+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(chh) (4,12,1)

3000

2000

1000

AT rnuanizse+ud [ 25
4000 [, po 4219+ 0.0
pl -35.77+ 0.00

TP delay [ns]

TVC(c, bch) (4,125

4000 S

3000

2000 -

1000 [~

-1 420e+04 / 25
pO 4208+ 0.0
pL -36.44 + 0.00

TP delay [ns]

TVC(c, bch) (4,12,9

4000

3000

2000 -

1000 [~

T nug 118e+04 / 25
= 4214+ 0.0
-36.6 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (412,13

4000 [,

3000
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Tinaiso/e+ud [ 25
= pO 4197+ 0.0
pl -35.62+ 0.00

TP delay [ns]
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1000

TVC(CbCh) (4,12,2)

- C = 29.36 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4,12,6

-1 i 3b4e+04 / 25
- pO 4210+ 0.0
[ pl -36.32+ 0.00

K™ 1 nui tose+u4 / 25
_- po 4193+ 0.0
[ p1 -34.06 + 0.00

TP delay [ns]

TVC(epeh)=(4, 12, 10

Tz r3e+04 [ 25
po 4241+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (412,14

T grve+ud [ 25
pD 4200+ 0.0
pl -35.59 + 0.00

TP delay [ns]
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TVC(Cbch) (4,12,3)

AT 1 nuiL 1ose+ud [ 25
o=, po 4196 + 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(c, bch) (4,12,7

-1 nun bzye+u4 [ 25
- pO 4221+ 0.0
pL -36.71% 0.00

50 1(;0
TP delay [ns]

TVC(c, bch) (4, 12 11

-1 nuiL puse+u4 / 25
= po 4237+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (4,12,15

- T nuiazoe+ud [ 25
pO 4205+ 0.0
-35.42+ 0.00

TP delay [ns]
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- pO 4292+ 0.0
p1 -37.23+ 0.00
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- L 28 e+04 [ 25
— pD 4269+ 0.0
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[ C =29.24 [ps/ch]
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1000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (5, 11 2)

~rnuizuge+ud [ 25
F.. pO 4191% 0.0
L pl -36.09 + 0.00

3000

TP delay [ns]

TVC(chh) (5, 11 6

1000

T ry/e+u4 [ 25
- pO 4219+ 0.0
[ pl -36.27 + 0.00

TP delay [ns]

TVC(e,Deh)=(5, 11, 10

X© 1 Iz gude U | 25
- po 4254+ 0.0
L -37.01+ 0.00

TP delay [ns]

TVC(c,b Ch) (5,11, 14

K™ nun szze+04 1 25
- po 4248+ 0.0
[ p1 -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,11,3)

A~ 1 nuiLzZoe+ud [ 25
po 4204+ 0.0
pL -35.94 + 0.00

TP delay [ns]

TVC(CbCh) (5, 11 7

Crnuan1ble+u4 /25
- pO 4228+ 0.0
p1 -36.04 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (5, 11 11

-1 nuiL pbge+u4 / 25
- pO 4264+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 11 15

- i zz9e+ud [ 25
e, pO 4238+ 0.0
p1 -35.92+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 12 0)

pO

“rnuiizie+ud /25
Frcea pO 4201+ 0.0
pl -34.4+ 0.0
[ C=29.07 [ps/ch],_ 7
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (5, 12 4)
-1 nuiL Zyoe+04 / 25
F 4209+ 0.0
-34.77 + 0.00

pL

- c =
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (5, 12 8)
- i bzye+ud [ 25
= pD 4230+ 0.0
-34.91+ 0.00

TP delay

TVC(Cbch) (5, 12 12

- pO

[ns]

- 1 nuiL bude+ud [ 25
4218+ 0.0
-34.16 + 0.00

[ C =29.27 [ps/ch]

L n n n n 1
50 100

TP delay

[ns]

TVC(chh) (5,12,1)

4000 fur po

AT 1 nuiLUsbe+u4 / 25
4204+ 0.0
-35.05+ 0.00

pl

3000

2000

1000

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (5, 12 5

=

4000 DO
p1

3re+u4 /25
4222+ 0.0
-35.19+ 0.00

3000

2000

1000

TP delay [ns]

TVC(eb.oh)=(5, 12,9

4000 [

T nai3y/e+ud [ 25
4231+ 0.0
-33.65+ 0.00

3000 -

2000 -

w0 C =29.71 [ps/ch] ™.

1
50 00

TP delay [ns]

TVC(c,b ch) (5, 12 13

4000 [

TinuiLgsie+ud /25
4215+ 0.0
-34.86 + 0.00

3000

2000

1000 |~

TP delay [ns]

TVC(CbCh) (5,12,2)

4000 po

3000
2000

1000

X~ 1 L zove+u4 | 25
4227+ 0.0
p1 -36.36+ 0.00

TP delay

TVC(Cbch) (5, 12 6

4000 fomm PO

pl

[ns]

-1 nuiL409e+04 / 25
4227+ 0.0
-35.84 + 0.00

3000 |~

2000~

wol- ¢ = 27.90 [ps/ch

TP delay

TVC(cbch) (5, 12 10

4000 F pO

pl

[ns]

-1 nu, (ule+ud [ 25
4263+ 0.0
-34.47 + 0.00

3000~

2000~

1000:— C =29.01 [ps/ch]

1
0 50 100

TP delay

TVC(CbCh) (5, 12 14

4000 [

[ns]

T rnuiLugve+ud | 25
4220+ 0.0
-35.71+ 0.00

3000
2000

1000

PR R R SR R |
50 100

TP delay

[ns]

TVC(Cbch) (5,12,3)

A~ 1 nuiLz03e+u4 [ 25
4224+ 0.0
pL -36.45+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c,b Ch) (5, 12 7

4000 e, PU

[ns]

- nuiblie+ud / 25
4242+ 0.0
p1 -35.39+ 0.00

3000 -

2000 -

1000 C = 28.26 [pS/Ch

TP delay

TVC(Cbch) (5, 12 11

4000 e, pO

pl

[ns]

T nuiLpb/e+u4 [ 25
4255+ 0.0
-34.33+ 0.00

3000 -

2000 -

1000 C = 29.13 [ps/ch]

1
50 00

TP delay

TVC(cbch) (5, 12 15

4000 [u.

[ns]

- i 519e+u4 [ 25
4223+ 0.0
p1 -34.79+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 13 0)

- sU/e+u4 [ 25
e, pO 4205+ 0.0
p1 -35.9.+ 0.0

TP delay [ns]

TVC(Cbch) (5, 13 4

= 1w g9ye+ud [ 25
o, po 4215+ 0.0
pl -36.52+ 0.00

50 5
TP delay [ns]

TVC(eb,oh)=(5, 13,8

- i Gue+ud | 25
- pD 4234 0.0
p1 -35.58:+ 0.00

TP delay [ns]

TVC(Cbch) (5, 13 12

- 1 i zo3e+u4 [ 25
= po 4240+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

Lbe+ud /25
4213+ 0.0
-35.94+ 0.00

A

e po

pl

TP delay [ns]

TVC(c,b Ch) (5, 13 5

-1 nu zgze+u4 [ 25
4234+ 0.0
-36.7 £ 0.0

TP delay [ns]

TVC(eb.oh)=(5, 13,9

X~ p,

o= po
pL

use+ud / 25
4247+ 0.0
-36.13 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 13 13

T inai 343e+u4 / 25
4235+ 0.0
-35.62+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

TP delay [ns]

TVC(Cbch) (5, 13 6

X~ 1L bzze+U4 [ 25
F.... po 4202+ 0.0
[ p1 -35.55+ 0.00

3000

T rnu1z1e+04 / 25
- pO 4206+ 0.0
[ pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

0

-1 iz yybe+ua 25
- pO 4281+ 0.0
[ pL -37.46+ 0.00

TP delay [ns]

TVC(CbCh) (5, 13 14

- 1 su3e+ud [ 25
- pD 4245+ 0.0
[ p1 -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

s, po

A1 nuiLy7aerud | 25
4202+ 0.0
pL -34.47 £ 0.00

[ C =29.01 [ps/ch]

L
50 100

TP delay

TVC(c,b Ch) (5, 13 7

[ns]

-1 nui 3lee+u4 / 25
4219+ 0.0
-35.7 + 0.0

TP delay

TVC(Cbch) (5, 13 11

= pO

[ns]

T inuiLy4/e+u4 /25
4272+ 0.0
pl -36.39+ 0.00

TP delay

TVC(cbch) (5, 13 15

[ns]

-z 9e+ud [ 25
4250+ 0.0
p1 -36.44 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.14,0)

TrnaLsL/e+ud /25
PO 4207+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (5.14,4

- 1L 148e+04 / 25
e pO 4207+ 0.0
pl -36.04 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 14 8

T rnuzg31e+04 /25
- PD 4212+ 0.0
pl -35.59+ 0.00

TP delay [ns]

TVC(cbch) (514,12

T i, r3ye+ud / 25
- PO 4243+ 0.0
pl -35.79 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,14,1)

[Fonee po

pl

AT rmuiLgoie+ud [ 25
4202+ 0.0
-36.08 + 0.00

TP delay [ns]

TVC(c, bch) (5,14,5

Snun1.73e+04 [ 25
4198+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(c, bch) (5,14,9

FSRALTE)

[, po
pl

Bre+ud | 25
4234+ 0.0
-35.58 + 0.00

TP delay [ns]

TVC(cbch) (514,13

Tinaiz3e+ud [ 25
4248+ 0.0
-36.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,14,2)

TVC(cbch) (5,14,3)

- C = 28.11 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

1000

A7 nun ss0e+04 /25
Foase, PO 4227+ 0.0
L pl -35.58+ 0.00

K- sZae+Ud | 25
- PO 4232+ 0.0
pl_ -36.72% 0.00

TP delay [ns]

TVC(c, bch) (5,14, 7

~nuiL 184e+04 / 25
- pO 4228+ 00
H PL_ -36.39+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

S zyre+ud [ 25
- PO 4214+ 0.0
Pl 35343000

TP delay [ns]

TVC(cbch) (5,14, 11

© 1 nu gyoe+ud / 25
- DO 4253+ 0.0
H PL_ -3559: 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

T nuiLayse+ud [ 25
- PD 4228+ 0.0
I pl -35.43 + 0.00

T gb/e+u4 [ 25
F p0 4259+ 0.0
pL -35.99+ 0.00

TP delay [ns]

TVC(cbch) (5,14, 15

TP delay [ns]

T b/1e+u4 /25
- pO 4239 00
pl -35.89 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 15 0)

[ C =28.68 [ps/ch] ]

T rnuiLps4e+u4 [ 25
4246+ 0.0
-34.87 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.15,4

- 1L 834e+04 / 25
o, pO 4213+ 0.0
pl -36.43+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

T nuiLygr1e+u4 /25
- pO 4224+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (5,15, 12

T rnuiLgase+u4 [ 25
- po 4259+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

AT 1 nuLoloe+ud [ 25
eaee po 4231+ 0.0
p1 -34.26+ 0.00

[ C =29.18 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(cbch) (5,155

-1 nuiylge+ud / 25
F po 4221+ 0.0
pL -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

~ 1 nuw.140e+04 / 25
= po 4235+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(cbch) (5.15,13

Tonai g rge+ud [ 25
pO 4273+ 0.0
pl -36.77 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

1000

1000

TVC(CbCh) (5,15,2)

K™ 1 nuiLoyse+ud /25
po 4256+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(cbch) (5.15,6

- rnuzu3le+ud / 25
pO 4228+ 0.0
pl -36.82+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (5. 15, 10

©1nuig.44pe+04 / 25
po 4256+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (5. 15, 14

T rnuiLpLze+u4 [ 25
pD 4269+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

R r3ae+04 [ 25
po 4267+ 0.0
pL -35.41+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (5,15, 7

-1 Uz ubze+u4 / 25
pO 4234+ 0.0
pL -36.15+ 0.00

1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

T nuiz zzge+u4 [ 25
pO 4265+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(cbch) (515,15

T inuiLps/e+ud [ 25
4255+ 0.0
-35.51+ 0.00

1
100

TP delay [ns]



TVC(cbch)(GOO) TVC(cbch)(GOl) TVC(cbch)(602) TVC(cbch)(603)
AT 1nuisyre+u4 /25 AT rnuLo1se+ud /25 K™ 1 nuiouse+ud /25 AT rmuiLolre+ud [ 25

4000 [Fowee PO 4151+ 0.0 4000 P po 4166+ 0.0 4000 _=- po 4172+ 0.0 4000 Fones, po 4186+ 0.0
pl -34.05+ 0.00 pl -35.52+ 0.00 r pl -34.92 + 0.00 pl -35.58 + 0.00

- 3000

- 3000

3000 = 3000

2000 - 2000 T 2000 - - 2000

1000 - 1000

1000

wol ¢ = 28.63 [ps/ch

—L L 1 Il ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,0,4) TVC(cbch) (6,0,5) TVC(cbch) (6,0,6) TVC(cbch) (6,0,7)
T iz1e+04 /25 -1 U 4o8e+04 / 25 T b 3e+u4 [ 25 -1 nui Bloe+u4 / 25
A000FL., pO 4171 0.0 a000E DU 4182+ 0.0 4000 4199+ 0.0 4000k, pO 4205 0.0
-34.01+ 0.00 pl 3554+ 0.00 3 -35.8+ 0.0 Pl -34.78+ 0.00

-1 3000

3000 - 3000 1 3000 B

2000 E 2000 E 2000

2000 [~

w0l C = 29.40 [ps/ch]™,, 1 wer C ] o o C = 28.75 [ps/ch]y,_ 7
55 5 - 5 105 = 2 =5 5o - 5 0% =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6 0,8 TVC(cbch) (6 0, TVC(cbch) (6, 0 10 TVC(c, bch) (6, O

RALEICA 2/@4—04 125 Tnuy 214&+u4/25 RRALEY ll)4e+04/25 Trnug, /4)ﬂe+u4/25
4000 [, PD 4177+ 0.0 4000 [, DO 4197+ 0.0 4000 o DO 4216+ 0.0 4000, DO 4221+ 0.0
pl -35.97 + 0.00 pl -36.57 + 0.00 r pl -35.86 + 0.00 pl -35.67 + 0.00
3000f E 3000 N 3000 N 3000 7
2000 - 1 2000 = T 2000 -1 2000 1
10001 C 7 oo C = 27.35 [ps/ch ] 1000f . 1000 .
- - -
1 1 - 1 -
0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,0,12 TVC(cbch) (6,0,13 TVC(cbch) (6,0,14 TVC(C, bch) (6,0,15

Tz 143e+04 / 25 -1 nuiz.ybye+ud / 25 ~1nuizuzse+ud | 25 Tonan 1ye+ud /25
4000, PO 4209+ 0.0 4000 PO 4204+ 0.0 4000 _= PD 4199+ 0.0 4000 PO 4215+ 0.0
pl -35.31+ 0.00 pl -35.67 + 0.00 F pl -35.14 + 0.00 pl -35.95+ 0.00

3000 - — 3000 B 3000 - 3000 1
2000 - — 2000 1 2000 - 2000 -
1000 |- E 1000 1 1000 E 1000~ 7
. [ ]
-
-
1 1

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

A7 1nun syse+ud / 25
po 4176+ 0.0
pl -36.92+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

- rnuz.z14e+04 [ 25
pO 4178+ 0.0
p1 -34.27:+ 0.00

TP delay [ns]

TVC(cbch) (6 1,8

T i ry1e+u4 / 25
= po 4200+ 0.0
pl -34.63 + 0.00

TP delay [ns]

TVC(cbch) (61,12

T 1ze+04 /25
= po 4199+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

X™ 1 L dyoe+ud | 25
- po 4195+ 0.0
pL -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

- 1nuz.419e+04 / 25
pO 4162+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

-1 nug.Usbe+ud / 25
po 4233+ 0.0
p1 -34.88 £ 0.00

TP delay [ns]

TVC(cbch) (61,13

T nuiLpoze+ud [ 25
pO 4193+ 0.0
pl -35.49+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,1,2)

A~ 1 nui oose+u4 / 25
Frcee po 4211+ 0.0
L pl -37.91+ 0.00

3000

1=
50 100

TP delay [ns]

TVC(cbch) (61,6

T b rze+V4 [ 25
- pO 4198+ 0.0
3 pl -36.09 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 1 10

T 1nuiz.4lpe+u4 [ 25
- po 4245+ 0.0
- pl -35.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

T L bEse+u4 / 25
= pD 4192+ 0.0
L p1 -35.07 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

AT rnuiLgyre+ud [ 25
po 4195+ 0.0
p1 -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

S rnan z1ve+u4 [ 25
- pO 4192+ 0.0
p1 -34.79+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

T, /55e+u4/25
- po 4255+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (61,15

T nai ruae+u4 [ 25
pO 4199+ 0.0
p1 -35.66 + 0.00

TP delay [ns]



TVC(cbch)(620) TVC(cbch)(621) TVC(cbch)(622) TVC(cbch)(623)
X~ 1 Sose+ud [ 25 A i1 rerud ] 25 X~ 1L 7g0e+04 | 25 A 1L dyierud | 25
4000, po 4200+ 0.0 00k, po 4211+ 0.0 A000FL, po 4210+ 0.0 4000, PO 4213+ 0.0
pl -37.47:+ 0.00 pL -36.08+ 0.00 3 pl -35.44+ 0.00 pL -36.52:+ 0.00

3000

7 3000 -1 3000 - - 3000

2000 2000 m 2000 . 2000

1000 1000 1000

wol- C = 28.22 [ps/ch

—L L 1 Il ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (62,4 TVC(cbch) (62,5 TVC(cbch) (62,6 TVC(c, bch) (6,27

- 1 nurLyu4e+ud / 25 T b/ e+ud [ 25 S rnun 1 g1e+u4 /25 - 1nu 153e+04 / 25
4000 4215+ 0.0 400, pO 4220+ 0.0 4000 [, pO 4235+ 0.0 4000 pO 4250+ 0.0
359+ 0.0 Pl -36.18%0.00 [ PL_ 3578+ 0.00 Pl -36.26+ 0.00

3000 E 3000 E 3000~ - 3000 —

2000 - 2000 - 2000 . 2000 -

1000 - 1000 - w00~ C = 27.95 [ps/ch . 1000 -

L -
-
- -
- -
1 1 1 1
50 00 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(6,2,8) TVC(eb.e=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ebe)=(6, 2, 1)
T nu10/e+u4 /25 T rnuy. 1/ 7e+V4 /25 Tnun2.13e+04 /25 T zzbe+u4 [ 25
4000 fome, pO 42213 0.0 4000 fae, pO 4264+ 0.0 4000 fome, DO 4264+ 0.0 4000 fs p0 4277+ 0.0
pl 3501 0.00 Pl -37.06% 0.00 [ 359+ 0.0 Pl -36.82% 0.00

e 3000

3000 N 3000 - 3000 1

2000 - 2000 -1 2000 - 2000

1000 1000 1000 4 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,2, 12 TVC(cbch) (6,213 TVC(cbch) (6,2 14 TVC(C, bch) (6,215

1 nuizyobe+u4d / 25 TinaiLg/e+ud [ 25 T i, r9oe+u4 [ 25 T nui guse+ud 25
4000 o, pO 4212+ 0.0 4000 o, pO 4239+ 0.0 4000 __- DD 4225+ 0.0 4000 4244+ 0.0
pl -34.92+ 0.00 pl -36.64 + 0.00 F pl -35.38+ 0.00 -35.81+ 0.00

e 3000

3000 1 3000 - 3000 -1

2000 ] 2000 T 2000 - 2000

1000 1000

1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

K™ 1 nui4sae+04 /25
- po 4197+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (63,4

T LYo /e+ud [ 25
e, pO 4231 0.0
pl -37.52:+ 0.00

TP delay [ns]

TVC(cbch) (6 3,8

©1nuiz,ugoe+u4 | 25
- po 4236+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (6,3 12

T pyle+ud /25
pO 4236+ 0.0
pl -35.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

A 1L azze+u4 | 25
Frase po 4202+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

- rnuLBuse+u4 25
[Fom, DU 4234+ 0.0
pl -36.48+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 3,9

~ 1 nuy. 1se+ud / 25
- pO 4254+ 0.0
pl -35.49 + 0.00

TP delay [ns]

TVC(cbch) (63,13

T inui sz1e+ud [ 25
4224+ 0.0
-35.1+ 0.0

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (6,3,2)

T Lose+ud /25
Freee, pO 4215+ 0.0
o pl -36.79. 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

-1 i Bo4e+u4 / 25
- pO 4238+ 0.0
[ pl -36.19 0.00

3000

TP delay [ns]

TVC(cbch) (6, 3 10

Trnuiz4r3e+04 /25
__ DO 4282+ 0.0
- pl -35.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,3 14

T, r49e+04 / 25
4226+ 0.0
-36.2+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

AT 1 nuiLo4/e+U4 [ 25
- po 4217+ 0.0
pl -35.84+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

=1 nui Yyve+u4 / 25
- pO 4248+ 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

T 5Uie+U4/25
- po 4262+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(C, bch) (63,15

T nai rsae+u4 [ 25
e po 4243+ 0.0
p1 -36.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

AT 1nuiz41e+04 /25
.. po 4198+ 0.0
p1 36+ 0.0

TP delay [ns]

TVC(cbch) (64,4

- i izoe+ud / 25
e, pO 4187+ 0.0
p1 -34.07 + 0.00

[ C =29.35 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T rnuzbyle+u4 [ 25
= po 4190+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (64,12

T gose+ud [ 25
= po 4223+ 0.0
-33.56 + 0.00

[ C =29.79 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT rnuLsuLe+ud /25
P, po 4177+ 0.0
pl -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

=1 nui 3ube+u4 / 25
- pO 4186+ 0.0
pL -34.84+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 4,9

-1 nub.Usbe+ud | 25
= po 4209+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (64,13

Tinui o4 /e+ud [ 25
= pO 4222+ 0.0
pl -34.69 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

K71 nui zoae+V4 / 25
_- po 4191+ 0.0
o pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

- rnuiL4z9e+04 [ 25
4190+ 0.0
-35.31+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

T 1nuz.4zze+04 | 25
__ DO 4241+ 0.0
- pl -34.83+ 0.00

TP delay [ns]

TVC(cbch) (64,14

~1nuiLgn4e+04 [ 25
pD 4230+ 0.0
pl -33.7+ 0.0

- C =29.68 [ps/ch] .

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT 1L zeye+ud [ 25
.. po 4207+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nui 4z29e+04 / 25
- pO 4201+ 0.0
p1 -34.88+ 0.00

TP delay [ns]

TVC(eh.ch)=(6, 4, 11

Tonan1ase+u4 /25
== 4227+ 0.0
-33.86 + 0.00

[ C =29.54 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

Tinuis1/e+ud /25
= 4226+ 0.0
-34.57 + 0.00

[ C =28.93 [ps/ch]

PR I S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

K™ 1nuizrae+04 /25
o po 4204+ 0.0
p1 -35.76 + 0.00

TP delay [ns]

TVC(cbch) (6,54

[ C =29.23 [ps/ch]

- 1nuiz.a59e+04 [ 25
o, po 4200+ 0.0
pl -34.21+ 0.00

EN) 10'0
TP delay [ns]

TVC(cbch) (6 5,8

- rnu Lyae+u4 [ 25
4218+ 0.0
-35.8 + 0.0

1
50 00

TP delay [ns]

TVC(cbch) (6,5,12

- 1 nuiL paae+u4 [ 25
= po 4228+ 0.0
pl -35.66+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1

AT nuiLszze+u4 [ 25
e po 4216+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(cbch) (6 55) -
~nuzblie+ud / 25

=, Al%z‘

-34.03+ 0.00

[ C=29.38[ps/ch]™,_ ]

o o
TP delay [ns]

TVC(c,b ch) (6 59

T nun.p31e+U4 / 25
pO 4216+ 0.0
p1 -35.27 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

Tinai/4/e+u4 /25
4251+ 0.0
-36.11 + 0.00

PR R SR |
50 100

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,5,2)

X~ 1 L Sove+u4 [ 25
po 4227+ 0.0
p1 -36.49 £ 0.00

TP delay [ns]

TVC(cbch) (6,56

F C = 29.26 [ps/ch]

- 1nu,beve+u4 / 25
fo, pO 4211+ 0.0
L pl -34.17 + 0.00

3000

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

1000

- 1 i uSve+ud | 25
- pO 4244+ 0.0
[ p1 -35.69:+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,5,14

-1 i pole+ud [ 25
. pD 4223+ 0.0
[ p1 -35.16 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,53)

o tlszerud | 25
- pO 4213+ 0.0
pL -34.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

-1 nu bbze+u4d / 25
4213+ 0.0
-35.1+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 5

T, 114e+u4125
= po 4250+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

S gre+ud [ 25
e, pO 4237+ 0.0
p1 -36.09 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

K™ 1 nui4sae+04 /25
4199+ 0.0
-35.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.6,4

-1 382e+04 | 25
e pO 4184+ 0.0
pl -35.01+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (6, 6 8

T rnuz.z4ze+04 | 25
po 4218+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (6,6,12

T rnuiLyyle+u4 / 25
pO 4236+ 0.0
pl -35.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

X 1L drserud | 25
- po 4210+ 0.0
pL -35.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

-1 b3ve+u4 / 25
4209+ 0.0
-36.3 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 6,9

T nuiL szbe+U5 / 25
pO 4249+ 0.0
p1 -34.88 £ 0.00

TP delay [ns]

TVC(cbch) (6,6,13

Tinai 3ae+04 / 25
pO 4229+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,6,2)

K™ nuna4ze+04 /25
P, po 4205+ 0.0
L pl -35.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (66,6

- i by3e+ud [ 25
pO 4197+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (6, 6 10

1000

T, 4/e+04 /25
- po 4261+ 0.0
- pl -35.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,614

T Looe+ud /25
. pD 4226+ 0.0
L pl -35.49+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

AT 1L osse+ud [ 25
po 4217+ 0.0
pl -35.41+ 0.00

C =28.24 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

-1 nui /8oe+u4 / 25
4209+ 0.0
-35.9+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 6

EEALER ywe+u4/25
- po 4257+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(C, bch) (6,6, 15

TinuiLpl/e+ud /25
= po 4240+ 0.0
p1 -36.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0

X~ 1L sube+U4 [ 25

b po 4188+ 0.0
pL -35.46 + 0.00

TP delay [ns]

TVC(cbch) (67,4

ULz /e+u4 [ 25
= po 4201+ 0.0
pl -34.72+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 7,8

- s Zoae+ud | 25
- po 4210+ 0.0
p1 -35.96+ 0.00

TP delay [ns]

TVC(cbch) (6,7,12

- 1 i y8ze+U4 [ 25
e, po 4256+ 0.0
pl -36.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

X131 re+ud [ 25
e po 4212+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

S rnun 1 /e+04 /25
Fucse po 4212+ 0.0
pl -35.31+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 7,9

- nuiL 1use+us / 25
= po 4229+ 0.0
p1 -36.43 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 7 13

TinuiLylse+ud / 25
= pO 4250+ 0.0
p1 -37.2+ 0.0

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,7,2)

. po

K™ 1nuia4ze+04 | 25
4218+ 0.0

TP delay [ns]

TVC(cbch) (67,6

p1 -36.24 + 0.00

© i, 739e+04 [ 25
- pO 4220+ 0.0
[ pl -35.02+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 7, 10

1000

0

-1, (z4e+04 [ 25
-, po 4254+ 0.0
o pl -37.09 + 0.00

TP delay [ns]

TVC(cbch) (67,14

1000

S i 1se+u4 [ 25
. pD 4254+ 0.0
L pl -36.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3

A~ 1 nuiL5z0e+U4 [ 25
e po 4218+ 0.0
pL -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

-1 nui oge+u4 / 25
4219+ 0.0
-34.5+ 0.0

[ C =28.98 [ps/ch] ]

_L

50 160
TP delay [ns]

TVC(c,b ch) (6, 7

- i, U/qe+u4/25
e pO 4263+ 0.0
pL -37.48  0.00

TP delay [ns]

TVC(c,b ch) (6, 7 15

- pO

S rna 1lge+ud 25
4264+ 0.0
pL -36.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0)

K™ 1 nui roye+u4 / 25
4184+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,84

- i zo3e+ud / 25
e, pO 4270 0.0
pl -38.92:+ 0.00

50 10‘0 -
TP delay [ns]

TVC(cbch) (6 8,8

T il 3y1e+u4 / 25
- pO 4214+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (6,812

T rnuiLzole+u4 / 25
= po 4223+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

AT rnuanLrsie+ud [ 25
Foase po 4182+ 0.0
pl -34.75+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

=1 nui bgbe+u4 [ 25
- pO 4252+ 0.0
-37.7+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,9

Tnan3.z0e+04 1 25
==, 4223+ 0.0
-34.58 + 0.00

[ C =28.92 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (6,813

T inuiL130e+ud / 25
= pO 4235+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6,8,2)

- C = 28.54 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (68,6

-1 nuiL145e+04 / 25
- pO 4264+ 0.0
[ 382 0.0

K™ 1 nui yuse+ud / 25
_l'_ po 4206+ 0.0
- pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (6, 8 10

©1nuz349e+04 | 25
. po 4255+ 0.0
- pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (6,8, 14

~ 1L 3use+u4 / 25
4223+ 0.0
-34.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

po

p1

AT 1L ryze+ud [ 25
4209+ 0.0
-35.76 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 8,7

p==. pO
pl

- nu Z3ze+u4 | 25
4284+ 0.0
-37.96 + 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

SRR m4e+u4/25
4262+ 0.0
-35.04 + 0.00

pl

TP delay [ns]

TVC(C, bch) (6,815

T inui sbse+ud / 25
4232+ 0.0
-35.15+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0)

A7 nui ro0e+u4 / 25
4215+ 0.0
pl -36.63+ 0.00

TP delay

TVC(cbch) (69,4

[ns]

T rnuiLaz3e+04 / 25
4238+ 0.0
-35.2+ 0.0

50 10‘0
TP delay

TVC(cbch) (6 9,8

== pD

[ns]

T 3zze+04 | 25
4222+ 0.0
pl -35.09+ 0.00

TP delay

TVC(cbch) (6,9,12

[ns]

T i syse+u4 / 25
4239+ 0.0
-34.13+ 0.00

. po
pl

[ C =29.30 [ps/ch] ™,

* 5(‘) * * * * 1(?:0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

AT 1 nuiLoB3e+U4 [ 25
[, PO 4221+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

~nun1.49e+04 /25
DU 4251% 0.0
pL -35.85+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 9,9

T nun.ysze+u4 [ 25
- pO 4234+ 0.0
pL -35.93+ 0.00

TP delay [ns]

TVC(cbch) (6,9,13

T szoe+u4 [ 25
- pO 4236+ 0.0
pl -35.3+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,9,2)

Ao,

[oase, po

pl

(12e+U04 /25
4238+ 0.0
-37.69+ 0.00

TP delay [ns]

TVC(cbch) (69,6

e, pO

pl

- rnuibz1e+u4 / 25
4260+ 0.0
-35.76 + 0.00

TP delay [ns]

TVC(cbch) (6, 9 10

1000

T z.80e+ud [ 25
- DO 4261+ 0.0
F pl -36.19+ 0.

-36.19 + 0.00

TP delay [ns]

TVC(cbch) (6,9,14

1000

- PD
L pl

~ 1L buse+U4 / 25
4250+ 0.0
-36.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3)

= po

AT 1L bsse+ud [ 25
4243+ 0.0
-37.17 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (6 9,7

b=, po
pl

=1 boge+u4 / 25
4277+ 0.0
-36.79+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, 9

= pO

aRALVS 1me+u4/25
4273+ 0.0
-36.3 + 0.0

1
100

TP delay [ns]

TVC(C, bch) (69,15

= pO

~ a1 4ne+ud [ 25
4259+ 0.0
-36.61+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T sise+u4 [ 25

-35.71+ 0.00

4206+ 0.0

1
50 100

TP delay [ns]

TVC(Cbch) (6, 10 4

- UL 563e+U4 [ 25
Facee po 4215+ 0.0
pl -36.83+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 10 8

T rnuiL4z1e+04 / 25
= pO 4220+ 0.0
p1 37+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 10 12)

T i paze+u4 | 25
= po 4229+ 0.0
pl -35.43+ 0.00

TP delay [ns]

TVC(chh) (6,10,1)

AT 1 nuiLsyze+u4 [ 25
4208+ 0.0
-36.17 + 0.00

pl

4000 7 po

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (6, 10 5

4000 [ pO

pl

~ 1 nuiL b44e+04 | 25
4220+ 0.0
-36.31+ 0.00

3000 -

2000

1000~ C

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 10

4000 [

- 1 1ub gyge+u4 [ 25
4224+ 0.0
-35.99 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (6, 10 13

4000 [,

~ 1 nuiLooge+ud / 25
4230+ 0.0
-35.46 + 0.00

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

TP delay [ns]

TVC(c,b ch) (6, 10 6

A1 b10e+04 /25
. po 4220+ 0.0
- pl -36.37 + 0.00

3000

- Ui bo3e+ud / 25
- pO 4228+ 0.0
[ pl -36.91+ 0.00

TP delay [ns]

TVC(e,b,ch)=(6, 10, 10

1000

0

- huizotierud /25
- pO 4250+ 0.0
[ p1 -37.02+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 10 14

~ i 1ade+ud [ 25
- pD 4232+ 0.0
[ p1 -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

po

p1

AT 1nuiL4y/e+u4 [ 25
4214+ 0.0
-37.1+ 0.0

TP delay

TVC(c,b Ch) (6, 10 7

o= pO
pl

[ns]

-1 nui bgle+u4d / 25
4232+ 0.0
-36.45+ 0.00

50 160
TP delay

TVC(Cbch) (6, 10 11

[ns]

Tonan1o/e+u4 25
4263+ 0.0
p1 -37.18 + 0.00

TP delay

TVC(cbch) (6, 10 15

[ns]

- pz3e+ud [ 25
4239+ 0.0
p1 -35.69 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 11 0)

a1 oe+ud /25
4224+ 0.0
pl -35.29+ 0.00

TVC(Cbch) (6,11,1)

4000 fe. po

pl

A7 1L obe+ud [ 25
4223+ 0.0
-34.52+ 0.00

3000 -

2000

w00 C = 28.97 [ps/ch]

TP delay [ns]

TVC(cbch) (6,11,4

L
50

1
100

TP delay [ns]

TVC(cbch) (6,11,5

4000

-1 1 Tbe+ud [ 25
P e, pO 4182+ 0.0
pl -36.23+ 0.00

Fc E
| L
50 100
TP delay [ns]
TVC(c,b, ch) (6,11,8)

S i1 yge+ud /25
= po 4230+ 0.0
pl -35.92+ 0.00

TP delay

TVC(cbch) (6,11, 12

[ns]

X~ 1 434e+04 1 25
- po 4252+ 0.0
pl -34.98 + 0.00

TP delay

[ns]

-1 nun zzge+u4 [ 25
e pO 4198+ 0.0
Pl -37.25: 0.00

3000

2000

1000

TP delay

TVC(eh.ch)=(6, 11, 9

4000

[ns]

T nun.p13e+ud [ 25
4218+ 0.0
-34.5+ 0.0

3000

2000

100 C = 28.98 [ps/ch]

1
50 100

TP delay

TVC(cbch) (611,13

4000 foem ,,o

p1

[ns]

T inaisule+ud / 25
4252+ 0.0
-34.76 + 0.00

3000

2000 [~

oo C = 28.77 [ps/ch]

PR U S S |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6, 11 2)

[oase PO

~ 1w py4e+u4 [ 25
4240+ 0.0
p1 -35.84+ 0.00

TP delay [ns]

TVC(cbch) (6,11,6

~rnuiLz41e+04 / 25
- pO 4205+ 0.0
3 pl -36.98+ 0.00

TP delay

TVC(c,b, ch) (6,11, 10

[ns]

X~ 1 nuig.upbde+ud [ 25
. po 4250+ 0.0
L pl -35.44 + 0.00

TP delay

TVC(cbch) (6,11, 14

[ns]

X~ 11w 4uve+04 [ 25
- po 4268+ 0.0
L pl -35.79+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,11,3)

- po

AT rnuiLr1ze+ud | 25
4247+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (6,11,7

=1 nui bube+u4 / 25
- pO 4213+ 0.0
pL -35.96+ 0.00

50 1(;0
TP delay

TVC(e.beh)=(6, 11, 11

= pO

[ns]

T nui gble+ud / 25
4253+ 0.0
pl -35.66 + 0.00

TP delay

TVC(cbch) (611,15

[ns]

)

Tonan g sze+ud | 25
4267+ 0.0
-35.48 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,12,0)

T Lroe+ud [ 25
Fomee, PO 4182+ 0.0
pl -34.55+ 0.00

TP delay [ns]

TVC(cbch) (6,124

- rnuiLa1ze+04 / 25
Fraese. pO 4233+ 0.0
pl -37.74+ 0.00

50 100
TP delay [ns]

TVC(cbch) (6, 12 8

i 3s4e+04 / 25
- PD 4197+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (612,12

L sbe+ud | 25
- 4227+ 0.0
-34.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (6,12,1)

AT 1nuiLzz3e+u4 [ 25
[Fones, po 4193+ 0.0
pL -33.7+ 0.0

[ C =29.67 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

T 155e+04 [ 25
[, DU 4228+ 0.0
Pl -36.95: 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6,12,9

TG, g (ze+u4 1 25
- pO 4223+ 0.0
pL -35.05+ 0.00

TP delay [ns]

TVC(cbch) (612,13

Ty 3e+u4 /25
PO 4223% 0.0
pl -34.95 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,12,2)

- C = 20,65 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

X~ 1w zz4e+04 [ 25
[P, PO 4190+ 0.0
L pl -33.73+ 0.00

- /0L bA3e+V4 | 25
F pO 4221+ 0.0
I pl -36.94 + 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

~ 1 nuzuple+ud / 25
- DO 42415 00
L PL_ -34.88% 0.00

TP delay [ns]

TVC(cbch) (6.12,14

TnuiLgole+ud /25
F PD 4234 0.0
I pl -34.4+ 0.0

- C = 29.07 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,12,3)

PO 4216+ 0.0
pl -35.66 + 0.00

AT 1 nuiLsole+ud [ 25

TP delay [ns]

TVC(c, bch) (6,127

pl -38.35+ 0.00

F pO

-1 nui baye+u4 / 25
4259+ 0.0

TP delay [ns]

TVC(cbch) (6,12, 11

: : )T

1 nuiL bobe+ud / 25
4263+ 0.0
36.1+ 0.0

TP delay [ns]

TVC(cbch) (612,15

= pO 4210 0.0

i 195e+u4 [ 25

34.41+ 0.00

[ C =29.06 [ps/ch]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 &

3000

2000

1000

TVC(cbch) (6,13,0)

TonuaiLbrze+ud [ 25
[Fomea. PO 4200+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (6,134

- L S2 (e+04 ] 25
== pO 4162+ 0.0
pl -35.55+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 13 8

©1nu p3se+ud / 25
Fome, pO 4198+ 0.0
pl -34.83  0.00

TP delay [ns]

TVC(cbch) (6,13, 12

~ 1 nuiLb40e+04 / 25
pO 4209+ 0.0
pl -35.2+ 0.0

PR B SRS |
50 100

TP delay [ns]

TVC(cbch) (6,13,1)

Y

4000 , pO

- Yu6 / 25
4210+ 0.0
pl -36.85+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,135

4000

[ns]

“nun1.50e+04 / 25
4165+ 0.0
-36+ 0.0

3000

2000

1000

TP delay

TVC(c,b ch) (6, 13

4000 [, pO

pl

[ns]

-1 nui/ Yboe+ud / 25
4233+ 0.0
-35.32 + 0.00

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (613,13

40005~ pO

p1

[ns]

T inuiLsoe+ud [ 25
4182+ 0.0
-34.31+ 0.00

3000

2000 [~

100 C = 29.15 [ps/ch]

PR U S S |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000
3000
2000

1000

TVC(c,b,ch)=( 6, 13, 2)

ur

T
Faese PO

PN 2400/ 25
4210+ 0.1
pl -36.43+ 0.00

TP delay

TVC(cbch) (6.13,6

[ns]

-1 i 4pze+04 [ 25
4169+ 0.0
-35.51+ 0.00

TP delay

TVC(cbch) (6, 13 10

[ns]

AL b52e+04/25
4000 F-. pO 4216+ 0.0
[ pl -33.99 + 0.00
3000 L ]
20001 .
wor C =29.42 [ps/chl ™, 7]
1 1 -
b 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (6,13, 14

P PD

T, (zoe+u4 [ 25
4201+ 0.0
pl -34.88 + 0.00

TP delay

[ns]

TVC(cbch) (6,13,3)

4000 fu__ 00

A- 1 nun Lase+ud [ 25
4214+ 0.0
pl -36.44 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,137

4000 po
pl

[ns]

-1 nui baye+u4 / 25
4194+ 0.0
-35.75+ 0.00

3000 -

2000 -

1000 [~ C

50 100
TP delay

TVC(cbch) (6, 13 1

4000 ey pO

[ns]

<1 nuiL pbae+u4 / 25
4235+ 0.0
pl -36.21+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (6,13,15

4000

[ns]

1 nui pooze+ud [ 25
4201+ 0.0
-35.32+ 0.00

3000 -

2000 -

ool C = 28.31 [ps/ch

50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000
3000_ ]
it ]
000 C = 29.48 [ps/ch] -]

0 5:) 10'0 -

4000

3000

2000

1000

TVC(CbCh) (6, 14 0)

Ty zoe+ud /25
= pO 4200+ 0.0
p1 -35.93 + 0.00

TP delay [ns]

TVC(Cbch) (6, 14 4

- iU $25e+04 [ 25
=5 po 4202+ 0.0
pl -35.41+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 14 8

1 nuiz.493e+04 | 25
= pO 4181+ 0.0
pl -33.92+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 14 12

1 sose+u4 [ 25
= po 4209+ 0.0
pl -35.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,14,1)

AT 1w 1ble+u4 /25
., po 4200+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

TVC(c,b Ch) (6, 14 5

-1 nui 463e+04 / 25
- pO 4208+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 14

[ C =29.29 [ps/ch]

T nu pg1e+ud / 25
= po 4203+ 0.0
p1 -34.14 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 14 13

T inuis19e+ud / 25
- pO 4192+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(CbCh) (6,14,2)

4000

2000

1000

X~ 1w 191e+04 / 25
-, po 4204+ 0.0
[ p1 -35.86+ 0.00

3000

TP delay [ns]

TVC(c,b ch) (6, 14 6

4000

3000

2000

1000

- i b38e+u4 [ 25
- pO 4221 0.0
[ pl -36.75+ 0.00

TP delay [ns]

TVC(e.b,ch)=(6, 14, 10

4000

3000

2000

1000

- 1 ube+ud | 25
F- pO 4210+ 0.0
[ pL -34.1% 0.0

- C = 29.32 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 14 14

4000

3000
2000

1000

T rnuiLgsze+u4 [ 25
= pD 4214+ 0.0
L -36.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

A~ nuiL1rse+ud [ 25
e, po 4222+ 0.0
pL -35.6 + 0.0

TP delay [ns]

TVC(c,b Ch) (6, 14 7

un bbb6 / 25
= po 4239+ 0.0
p1 -36.98 + 0.00

50 100
TP delay [ns]

TVC(e.beh)=(6, 14, 11

<1 nuiLagoe+u4 / 25
= pO 4217+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 15

- 1 22evud [ 25
- pO 4203 0.0
-35.71+ 0.00

PR R SR |
50 100

TP delay [ns]



TVC(CbCh) (6, 15 0)

4000

3000

2000

1000

- i 14ze+04 [ 25
- pO 4148+ 0.0
p1 -36.08:+ 0.00

TP delay [ns]

TVC(Cbch) (6, 15 4

4000

3000

2000

1000

= 1L 03pe+ud [ 25
o po 4170+ 0.0
pl -34.47 + 0.00

TP delay [ns]

TVC(cbch) (6, 15 8

4000

3000

2000

1000

- i sZze+04 [ 25
— pD 4211+ 0.0
p1 -33.98+ 0.00

[ C =29.43 [ps/ch]

0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 15 12

4000

3000

2000

1000

TrnaiLzsre+u4 [ 25
e po 4286+ 0.0
pl -37.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

AT 1 nuiL1use+u4 / 25
e po 4150+ 0.0
p1 -35.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 15 5

-1 i uBBe+u4 / 25
Fomee pO 4183+ 0.0
-34.03+ 0.00

[ C =29.39 [ps/ch]

50 150
TP delay [ns]

TVC(c, bch) (6, 15 9

- 2. 7se+ud [ 25
- pO 4228+ 0.0
pL -34.53 0.00

[ C =28.96 [ps/ch] 7]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 15 13

T nui s18e+ud [ 25
be. pO 4279+ 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,15,2)

A~ 1L ua4e+04 /25
F... po 4156+ 0.0
L pl -35.27 + 0.00

3000

TP delay [ns]

TVC(c,b ch) (6, 15 6

T i 17ze+04 / 25
Foe pO 4193+ 00
[ Pl 3493+ 0.00

- C = 28.63 [ps/ch

50 10'0
TP delay [ns]

TVC(e,b,ch)=(6, 15, 10

iy Be+ud | 25
- pO 4251 0.0
[ p1 -34.68:+ 0.00

- C = 28.83 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 15 14

~ i zose+u4 / 25
e, pD 4277+ 0.0
N -36.31+ 0.00

P PR TR |
50 100

TP delay [ns]

TVC(Cbch) (6,15,3)

4000 po

AT rnuiL131e+U4 /25
4174+ 0.0
p1 -36.05 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (6, 15 7

4000 &

pl

~rnan 1.use+u4 [ 25
pO 4198+ 0.0
-33.83+ 0.00

3000

2000 -

woor C = 29.56 [ps/ch]

1
50 00

TP delay [ns]

TVC(e,beh)=(6, 15, 11

4000 e pO

pl

~ 1 nui 348e+04 / 25
4241% 0.0
-34.06 + 0.00

3000 -

2000 -

1o00F C = 29.36 [ps/ch]

1
50 00

TP delay [ns]

TVC(cbch) (6, 15 15

4000 PO

- syle+ud [ 25
4285+ 0.0
p1 -36.83 + 0.00

-
3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0

A7 nun osze+u4 [ 25
- po 4193+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (70,4

T b r1e+ud / 25
4176+ 0.0
-34.4+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 0,8

1z z4pe+u4 | 25
e, pO 4209+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (7,0,12

1z 5o8e+04 [ 25
= po 4238+ 0.0
pl -37.78 + 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1

AL r3/e+u4 [ 25
P s po 4194+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

-1 nui byye+ud / 25
E pO 4193 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

T inun.1ule+ud / 25
= pO 4211+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (7,0,13

T inuzbive+ud [ 25
- pO 4232+ 0.0
pl -37.25+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

TP delay [ns]

TVC(cbch) (70,6

T rae+u4 /25
= pO 4204+ 0.0
L pl -36.47 + 0.00

3000

1L fore+04 [ 25

= pO 4186+ 0.0
L pl -34.55 + 0.00

FC = 28.95 [psichPy, -

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

T nugusze+ud | 25
= po 4250+ 0.0
L pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (7,0,14

T zoye+ud [ 25
3 pD 4238+ 0.0
- pl -38.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

AT rnuaiLs/re+ud [ 25
P s po 4197+ 0.0
pl -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

-1 nui ya3e+u4 / 25
- pO 4210+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(c,b ch) (7, O

Ty u/e+u4/25
= pO 4246+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

Tinuzsr1e+u4 /25
e po 4246+ 0.0
p1 -37.39+ 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,0

A7 1 nui aoe+u4 [ 25
- po 4176+ 0.0
pl -35.68 0.00

TP delay [ns]

TVC(cbch) (7.1,4

-1 nuiL430e+04 / 25
e, pO 4223 0.0
pl -36.06+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 1,8

T il bale+u4 [ 25
Tanse, PD 4226+ 0.0
pl -35.52+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,1,12

T/ rse+u4 [ 25
= po 4225+ 0.0
pl -35.24+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (71,1

AT 1 nunLozze+ud [ 25
- po 4191+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7 1,5

- /nUL4U1e+U4 | 25
= DU 4218+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

[ C =28.90 [ps/ch]

~ 1 nuig zoye+ud / 25
po 4237+ 0.0
-34.6 £ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (71,13

TinaiLyz/e+ud [ 25
pO 4222+ 0.0
pl -35.48 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (7,1,2)

A7 1 nui p44e+04 /25
Fuse po 4192+ 0.0
L pl -36.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,1,6

1000

T b /e+u4 [ 25
pO 4232+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 1, 10

- C = 29.96 [ps/ch] ™=, 1

T, (z3e+04 | 25
DO 4249+ 0.0
pl -33.37 + 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (7.1,14

T i, r9oe+u4 [ 25
pD 4226+ 0.0
pl -35.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3)

AT rnuiLbzre+ud [ 25
po 4222+ 0.0
p1 -36.3+ 0.0

TVC(c,b ch) (7 1,7

1
100

TP delay [ns]

=1 nui byve+u4 / 25
pO 4239+ 0.0
pL -35.98+ 0.00

TVC(c,b ch) (7, 1

1(;0
TP delay [ns]

I C=28.78 [ps/ch]

1)
~ 1 nuiy4se+ud [ 25
pO 4262+ 0.0
p1 -34.74.+ 0.00

50

1
100

TP delay [ns]

TVC(cbch) (7.1,15

Tonan L 74e+04 125
4229+ 0.0
-35.31+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

AT 1nuaizure+V4 /25
po 4205+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (72,4

T rnuz0rye+ud | 25
e, pO 4186+ 0.0
pl -35.35+ 0.00

e 4
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8

T rnuz3o1e+u4 /25
po 4232+ 0.0
pl -37.53+ 0.00

TP delay [ns]

TVC(cbch) (7,212

1L bube+u4 / 25
pO 4214+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,1)

T Lz1e+ud /25
Foase pO 4190+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

- 1nu lbze+u4 / 25
[, DO 4206+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T nug. robe+u4 [ 25
= po 4237+ 0.0
pl -35.53 + 0.00

TP delay [ns]

TVC(cbch) (7.2,13

Tinairy1e+ud [ 25
- pO 4212+ 0.0
pl -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

AT inun3r4e+04 /25
o po 4198+ 0.0
L pl -36.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,2,6

- 1 1uiLbave+u4 / 25
4188+ 0.0
-34.6+ 0.0

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

~1nuzplye+ud | 25
= po 4253+ 0.0
- pl -36.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

T rnuiLyyle+u4 / 25
pD 4224+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3

AT 1L sove+ud [ 25
1 s, po 4212+ 0.0
pl -36.14+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

-1 nug 1bbe+u4 / 25
- pO 4211£ 0.0
pL -36.06+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T 9/1e+u4/25
= po 4259+ 0.0
pl -37.69+ 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

T inuiLyb/e+ud [ 25
- po 4229+ 0.0
p1 -35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0)

AT 1nuiasie+ud /25
4185+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(cbch) (7.3,4

- rnuiLaz9e+04 [ 25
4178+ 0.0
-35.66 + 0.00

TP delay [ns]

TVC(cbch) (7 3,8

T 1yye+ud /25
4195+ 0.0
-36.25+ 0.00

TP delay [ns]

TVC(cbch) (7,312

T rnuiLpgle+ud / 25
4214+ 0.0
-36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,1)

Fomes po

pl

A~ rnuiL4anie+ud [ 25
4195+ 0.0
-37.28+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

=1 nui buge+u4 [ 25
4188+ 0.0
-36.39 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

==, po

pl

T naiuz/e+ud [ 25
4214+ 0.0
-36.81+ 0.00

TP delay [ns]

TVC(cbch) (7.3,13

= pO

<1 nuiLvbve+ud / 25
4205+ 0.0
-36.29+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

P PO

pl

K™ 1 nuiLoole+u4 /25
4201+ 0.0
-36.34 + 0.00

TP delay [ns]

TVC(cbch) (73,6

T nun148e+04 /25
pO 4192+ 0.0
pl -35.93+ 0.

-35.93 + 0.00

10‘0
TP delay [ns]

1000

0

TVC(cbch) (7, 3 10

= 90

T nuzp3be+ud | 25
4232+ 0.0
-37.14 + 0.00

pl

TP delay [ns]

TVC(cbch) (7.3 14

T Love+ud /25
F pD 4210+ 0.0
L p1 -36.08+ 0.

-36.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,3,

A

Fones, po

p1

3

nuiLbzse+u4 / 25
4201+ 0.0
-36.53+ 0.00

TVC(c,b ch) (7 3,7

=
pO
pl

1
100

TP delay [ns]

nui ba1e+u4 / 25
4196+ 0.0
-35.44 + 0.00

1(;0
TP delay [ns]

TVC(c,b ch) (7, 3

. pO

Ty aue+u4/25
4240+ 0.0
-36.81+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (7,3,

X1

15

nuiLbz8e+u4 / 25
4222+ 0.0
-35.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A1

ovze+u4 | 25
4189+ 0.0
-35.98+ 0.00

TP delay [ns]

TVC(cbch) (7.4,4

RRALTUR

Fraese. PO

buze+u4 / 25
4211+ 0.0
-35.79+ 0.00

TP delay [ns]

TVC(eb,oh)=(7, 4,8

pO
p1

©1nuig,bu4e+U4 / 25
4212+ 0.0
-34.94 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7,4,12

B pO

p1

T z4ze+ud /25
4216+ 0.0
-36.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7.4,1)

13ve+U4 [ 25
4184+ 0.0
-35.21+ 0.00

A,

P PO

pl

TP delay [ns]

TVC(c,b ch) (7 4,5

~1nuib3/e+u4 [/ 25
4213+ 0.0
-35.38 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

e, po

pl

~ 1 nuy.uzbe+ud 25
4232+ 0.0
-35.11 + 0.00

TP delay [ns]

TVC(cbch) (7.4,13

T nuizusse+ud / 25
4224+ 0.0
-35.46 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (7.4,2)

[oeee, po

pl

A7 1 nuiz.uvoe+u4 / 25
4192+ 0.0
-35.98+ 0.00

TP delay [ns]

TVC(cbch) (7,46

pO
p1

- rnunLy3ze+ud [ 25
4224+ 0.0
-36.78 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

T 3.9se+u4 /25
po 4249+ 0.0
p1 -34.82+ 0.

-34.82 + 0.00

TP delay [ns]

TVC(cbch) (7.4,14

1 nuizyove+ud | 25
4212+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

Bove+u4 / 25
4196+ 0.0
-35.66 + 0.00

PSR

e, po
pL

TP delay [ns]

TVC(c,b ch) (7 4,7

pO
pl

-1 nuz.2uze+u4 | 25
4232+ 0.0
-36.97 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (7, 4

= pO

1)
T nuig szse+u4 [ 25
4250+ 0.0
-35.17 + 0.00

pl

TP delay [ns]

TVC(C, bch) (7.4,15

T nuiz 1ose+ud / 25
4234+ 0.0
-37.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0

A~ 1 nui 3s1e+04 / 25
o po 4187+ 0.0
p1 -35.05+ 0.00

TP delay [ns]

TVC(cbch) (7.5,4

S rnun 131e+04 /25
o, po 4188+ 0.0
pl -34.57 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (7 5,8

i Lrser0a] 25
.. pD 4206+ 0.0
Pl -36.51% 0.00

1
50 00

TP delay [ns]

TVC(cbch) (7,5,12

T rnuiLpLse+u4 / 25
= po 4237+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

AT 1 nuiLsyse+u4 [ 25
F... po 4193+ 0.0
p1 -35.32+ 0.00

TP delay [ns]

TVC(c,b ch) (7 55

S nun1737e+04 /25
Fuce po 4209+ 0.0
pl -35.62 + 0.00

TP delay [ns]

TVC(c,b ch) (7 59

~naig415e+04 / 25
= po 4218+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 5 13

Tinuiasse+ud [ 25
- pO 4238+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,5,2)

TP delay [ns]

TVC(cbch) (7,56

T p41e+u4/25
P pO 4212+ 0.0
[ pL -35.91:+ 0.00

3000

=1L 308e+04 / 25
E. pO 4205+ 0.0
[ pl -35.03+ 0.00

- C = 28.54 [ps/ch

50 10'0
TP delay [ns]

TVC(eb,oh)=(7, 5, 10

1000

0

- 1 i 2oze+U4 | 25
- pO 4237+ 0.0
[ pl -36.57+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 5 14

i 14se+ud [ 25
- pD 4241 0.0
[ p1 -37.2+ 0.0

TP delay [ns]

TVC(cbch) (7.5,3)

sse+ud | 25
4218+ 0.0
-35.68+ 0.00

PSR

4000 @, po

p1

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (7 57

4000 [ pO

pl

- rnui b3/e+04 / 25
4216+ 0.0
-35.36 + 0.00

3000 -

2000 -

0r C = 28.28 [ps/ch

TP delay [ns]

TVC(c,b ch) (7, 5

4000

T zzbe+u4/25
4241% 0.0
-36.3 + 0.0

3000

2000

1000

1
50 00

TP delay [ns]

TVC(c,b ch) (7, 5 15

4000 [Gu.

<1 nui bzoe+ud [ 25
4226+ 0.0
-35.94+ 0.00

3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.6,0)

T 4/e+u4 /25
P oeea pO 4227+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

- i b34e+04 / 25
Fraese. pO 4207+ 0.0
p1 -35.45+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 6, 8

T rnuzprse+ud | 25
= po 4188+ 0.0
-34.08 + 0.00

I C =29.34 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7,6,12

1 nug.puve+u4 / 25
= po 4202+ 0.0
p1 325+ 0.0

[ C =30.77 [ps/ch] ™= ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

A1 L Save+Ud | 25
P oaee po 4230+ 0.0
pL -36.48+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

“rnuLyz/e+u4 [ 25
Few pO 4224+ 0.0
pL -35.86+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

~ 1 nuy.quse+ud / 25
= po 4223+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (7.6,13

T inuiblae+ud [ 25
= pO 4235+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (7,6,2)

A7 1 nuibsoe+ud /25
-_ po 4224+ 0.0
- pl -35.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

S rnuzbe+u4 [ 25
.. po 4238+ 0.0
[ pl -36.29+ 0.00

TP delay [ns]

TVC(cbch) (7, 6 10

T rnuig.zu1e+u4 / 25
F po 4248+ 0.0
- pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (7.6,14

1000

T L gsse+u4 [ 25
pD 4248+ 0.0
-36.64 + 0.00

TP delay [ns]

TVC(cbch) (7,6,3

3000

2000

1000

A 1L Sagerud | 25
4000 e, po 4240+ 0.0
pL -36.58:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

3000

2000 -

1000 [~

-2y /e+04 [ 25
4000 s pO 4252+ 0.0
pl -36.68+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 6

4000 [u.

3000

2000

1000

T za4e+u4/25
pO 4235+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

4000 [

3000

2000

1000

-1 nuiL yooe+ud / 25
po 4240+ 0.0
-35.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0)

A7 1 nui zove+ud / 25
o, po 4206+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(cbch) (77,4

S 1s1e+04 /25
F po 4203+ 0.0
pl -34.89 + 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

1z zg4e+04 | 25
= po 4216+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

T rzse+u4 | 25
= po 4223+ 0.0
pl -37.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,1)

T 1zse+ud [ 25
e pO 4219+ 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

= 1 nui 348e+04 / 25
F po 4214+ 0.0
pl -35.64 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 7

T nun.p/ve+ud [ 25
= pO 4231+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (7,7,13

T nai roge+ud [ 25
- pO 4222+ 0.0
pl -37.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

0

TVC(cbch) (7,7,2)

P, po
pl

AT 1nui310e+04 /25

i

4218+ 0.0
-35.11+ 0.00

- C = 28.48 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

141 /e+04 [ 25

pO 4232+ 0.0
pl -36.29+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

1 nuiz 1b1e+u4 / 25

=, po 4239+ 0.0
[ pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (7,7,14

~ 1L, rove+u4 / 25

-

4219+ 0.0
-36.81+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

- PO

p1

AT 1 nuiLzsve+ud [ 25
4223+ 0.0
-35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

feme pO
pl

-1 nun bage+u4 [ 25
4234+ 0.0
-35.89+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1)
-1 nui ozye+ud [ 25
4250+ 0.0
-35.98 + 0.00

TP delay [ns]

TVC(C, bch) (7,7,15

SRR

(19e+u4 | 25
4221+ 0.0
-37.26+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

AT 1nuiasze+04 /25
po 4162+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (7.8,4

=i, ro8e+u4 [ 25
e, pO 4180+ 0.0
p1 -35.72:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 8,8

1, foge+u4 | 25
[, PD 4196+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (7,812

T rnuizuzoe+u4 | 25
= po 4208+ 0.0
pl -37.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,1

x- 1L d1ve+ud | 25
s po 4177+ 0.0
pL -35.61% 0.00

TP delay [ns]

TVC(c,b ch) (7 8,5

- /UL 710e+U4 25
o, DU 4188+ 0.0
pl -36.11+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 8,9

~ 1 nai pzae+u4 [ 25
po 4217+ 0.0
pl -35.92 + 0.00

TP delay [ns]

TVC(cbch) (7.8,13

T nuiyzye+ud [ 25
E pO 4215+ 0.0
pl -38.16 + 0.00

N PR Y
50 100

TP delay [ns]

TVC(cbch) (7,8,2)
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